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print ('ﬂajldu;j\ﬁlfq')

#Author: Hamza Bougroura

H#------ Import the requirement module -----------cc---mm e
import numpy as np

import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator

from matplotlib.ticker import MultipleLocator

H#------ Define the critical number ---------------“-- oo
= 200 # number of random steps

# 0,X,Y to control the different initial state (the coin part)

#===== operators =====================================

G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -1]1))/(3.)
F3 = (np.fft.fft(np.eye(3)))/np.sqrt(3.)

H2 = (np.array([[1, 1], [1, -1]]))/np.sqrt(2)

#=====coin state =====================================
coin2 = np.array([[1, @], [0, 1]])

coin3 = np.array([[1, @, @], [e, 1, @], [e, @, 1]])

cxx2 = np.outer(coin2[@], coin2[0@])
cyy2 = np.outer(coin2[1], coin2[1])

coo3 = np.outer(coin3[@], coin3[0])
cxx3 = np.outer(coin3[1], coin3[1])
cyy3 = np.outer(coin3[2], coin3[2])

#====== Define steps =================================
node = np.eye(N)

k=0

step_plus=0

while k<=(N-2):
plus = np.outer(node [k+1], node [k])
step_plus = step_plus + plus

k+=1
step_plus = step_plus + np.outer(node [@], node [N-1])
fi========
k=1

step_minus=0

while k<=(N-1):
minus = np.outer(node [k-1], node [k])
step_minus = step_minus + minus
k+=1

step_minus = step_minus + np.outer(node [N-1], node [0])

step_rest=0
while k<=(N-1):
rest = np.outer(node [k], node [k])
step_rest = step_rest + rest
k+=1
#===== compute the Shift operator ======================
S_Q2 = np.kron(step_plus, cxx2) + np.kron(step_minus, cyy2)
S_C2 = step_plus + step_minus
S_Q3 = np.kron(step_rest, coo3) + np.kron(step_plus, cxx3) + np.kron(step_minus, cyy3)
S_C3 = step_rest + step_plus + step_minus
#===== Evolution operator ======================
UH2 = S_Q2.dot(np.kron(np.eye(N), H2))
UG3 = S_Q3.dot(np.kron(np.eye(N), G3))
UF3 = S_Q3.dot(np.kron(np.eye(N), F3))
Uc2 = S_C2/(2.)
Uc3 = S_C3/(3.)
==== Define the initial state Psi(zero) =============
posn@ = np.zeros(N)
posn@[(N-1)/2] = 1 # the initial node position space
psieQ2 = np.kron(posn@, ((coin2[0])*X+(coin2[1])*Y)/np.sqrt(X+Y))
psi@C2 = posn@
psieQ3 = np.kron(posn@, ((coin3[0]*0)+(coin3[1]*X)+(coin3[2]*Y))/np.sqrt(X+Y+0))
psi@C3 = posn@
#==========evolution equation========================
psiNH2 = np.linalg.matrix_power(UH2, T).dot(psi@Q2)
psiNC2 = np.linalg.matrix_power(UC2, T).dot(psiec2)
psiNG3 = np.linalg.matrix_power(UG3, T).dot(psieQ3)

-590-

(2*T)+1 # number of node or vertex in open line (in cycle case we fix the value of N (for example N= 11)



psiNF3 = np.linalg.matrix_power(UF3, T).dot(psieQ3)
psiNC3 = np.linalg.matrix_power(UC3, T).dot(psiecC3)

probH2 = np.zeros(N)
k=9
while k<N:
posn = np.zeros(N)
posn[k] =1
M_hat_k = np.kron( np.outer(posn,posn), np.eye(2))
proj = M_hat_k.dot(psiNH2)
probH2[k] = proj.dot(proj.conjugate()).real

k+=1

XxH2=np.sum(probH2)

#======Grover: 3D===================

probG3 = np.zeros(N)

k =0

while k<N:
posn = np.zeros(N)
posn[k] = 1
M_hat_k = np.kron( np.outer(posn,posn), np.eye(3))
proj = M_hat_k.dot(psiNG3)
probG3[k] = proj.dot(proj.conjugate()).real
k+=1

XG3=np.sum(probG3)

#======Fourier: 3D====================

probF3 = np.zeros(N)

k =0

while k<N:
posn = np.zeros(N)
posn[k] = 1
M_hat_k = np.kron( np.outer(posn,posn), np.eye(3))
proj = M_hat_k.dot(psiNF3)
probF3[k] = proj.dot(proj.conjugate()).real
k+=1

xF3=np.sum(probF3)

2D ===========z============

xC2=np.sum(psiNC2)

probC2=psiNC2

#======classic: 3D ======================

XC3=np.sum(psiNC3)

probC3=psiNC3

#======Plot the probability====================

minorLocator = AutoMinorLocator()

fig, ax = plt.subplots()

plt.plot(probH2, 'r*-', label='$H_2%$', markersize=20, linewidth=7)

plt.plot(probC2, '*-', label='$C_2$', markersize=25, linewidth=7, c='gray')

plt.plot(probG3, 'go-', label='$G_3%$', markersize=10, linewidth=7, c='lime')

plt.plot(probF3, 'bo-', label='$F_3%$', markersize=10, linewidth=7)

plt.plot(probC3, 'ko--', label='$C_3$%$', markersize=10, linewidth=7)

V = N-1

plt.xticks(range (@, N, (V)/10))

ax.set_xticklabels(range (-V/2, (V/2)+1, (V)/10))

A = np.array([[probC2], [probC3], [probF3], [probG3], [probH2]])

y = (np.max (A))-0.05

plt.text(((N-1)/2), y, '$T= '+str(T)+'$', fontweight='heavy',bbox={'facecolor':'red', 'alpha':0.5, 'pad':10}, fontsize=65)
ax.xaxis.set_minor_locator(minorLocator)

ax.yaxis.set_minor_locator(minorLocator)

ax.grid(which="both")

ax.grid(which="minor', 1lw=0.5, 1ls=':")

ax.grid(which="major"', lw=1, 1ls='--"')

ax.tick_params(axis='x"', which="major', labelsize=70, width=6, length=20, colors='
ax.tick_params(axis='x"', which="minor', labelsize=70, width=2, length=10, colors
ax.tick_params(axis='y', which="major', labelsize=70, width=6, length=20, colors
ax.tick_params(axis='y', which="minor', labelsize=70, width=2, length=10, colors="'
ax.set_xlabel('Steps number', fontsize=65)

ax.set_ylabel('Probability', color='k', fontsize=65)

for tl in ax.get_yticklabels():

tl.set_color('k")

ax.xaxis.set_minor_locator(MultiplelLocator(50))
ax.yaxis.set_minor_locator(MultiplelLocator(0.10))

plt.title('quantum walk in simple line aftre ' + str(N) + ' steps', fontsize=16)
plt.legend(fontsize=50)

figManager = plt.get_current_fig _manager()

figManager.window.showMaximized()

plt.tight_layout()

plt.show()

print ('daeall')

#=== End of the code=========

k')
k')
)
k')
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print (el gles 0l o)

#Author: Hamza Bougroura

H#------ Import the requirement module ----------------------
import numpy as np

import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator

from matplotlib.ticker import MultipleLocator

H#e-em-- Define the critical number ---------------ooco--

T = 500 # number of random steps

a=2 # just a constant

N = (a*6)+a # number of node (we change only the value of 6)
Lev = (N/2)+1 # level (circle of 8 level)

0=1

X=1

Y=1

#== operators =======z======z====z=============================

G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -111))/(3.)
F3 = (np.fft.fft(np.eye(3)))/np.sqrt(3.)

H2 = (np.array([[1, 1], [1, -1]1]))/np.sqrt(2)

#=====co0in state =========z===z=z==z===z=====z===z===z=====z==z===z==
coin2 = np.array([[1, @], [0, 1]])

coin3 = np.array([[1, @, @], [e, 1, @], [0, @, 1]])

cxx2 = np.outer(coin2[@], coin2[0@])
cyy2 = np.outer(coin2[1], coin2[1])

coo3 = np.outer(coin3[@], coin3[0])
cxx3 = np.outer(coin3[1], coin3[1])
cyy3 = np.outer(coin3[2], coin3[2])

#t======== Define different steps (the matrix) ================
node = np.eye(N)

k=0

step_plus=0

while k<=(N-2):
plus = np.outer(node [k+1], node [k])
step_plus = step_plus + plus

k+=1
step_plus = step_plus + np.outer(node [@], node [N-1])
e
k=1

step_minus=0

while k<=(N-1):
minus = np.outer(node [k-1], node [k])
step_minus = step_minus + minus
k+=1

step_minus = step_minus + np.outer(node [N-1], node [0])

k=0
step_rest=0
while k<=(N-1):
rest = np.outer(node [k], node [k])
step_rest = step_rest + rest
k+=1
ff================= the Shift operator ============================
S Q2 = np.kron(step_plus, cxx2) + np.kron(step_minus, cyy2)
S_C2 = step_plus + step_minus
S_Q3 = np.kron(step_rest, coo3) + np.kron(step_plus, cxx3) + np.kron(step_minus, cyy3)
S_C3 = step_rest + step_plus + step_minus
#========== the Evolution operator ======================z==============
UH2 = S_Q2.dot(np.kron(np.eye(N), H2))
UG3 = S_Q3.dot(np.kron(np.eye(N), G3))
UF3 = S_Q3.dot(np.kron(np.eye(N), F3))
Uc2 = S_C2/(2.)
Uc3 = S_C3/(3.)

f#f========== Define the initial state Psi(zero) ===============
posn@ = np.zeros(N)
posne[@] = 1

psi@Q2 = np.kron(posn@, ((coin2[0])*X+(coin2[1])*Y)/np.sqrt(X+Y))

psi@C2 = posn@

psi@Q3 = np.kron(posn@, ((coin3[0]*0)+(coin3[1]*X)+(coin3[2]*Y))/np.sqrt(X+Y+0))
psi@C3 = posn@

yy = (T+1)

Arriva_probH2 = np.zeros(yy)
Arriva_probG3 = np.zeros(yy)
Arriva_probF3 = np.zeros(yy)
Arriva_probC2 = np.zeros(yy)
Arriva_probC3 = np.zeros(yy)
Norm_psiNH2 = np.zeros(yy)
Norm_psiNC2 = np.zeros(yy)
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Nor
Nor
Nor
aH2
aC2
aG3
aF3
aC3
bH2

bC2 =

min
fig

plt.
plt.
plt.
plt.
plt.
plt.
plt.
plt.
.Xaxis.set_minor_locator(minorLocator)

ax
ax.
ax.
ax
ax.
ax.
ax.
ax.
ax.
ax.
ax.
for
tl.
ax.

m_psiNG3 = np.zeros(yy)

m_psiNF3 = np.zeros(yy)
m_psiNC3 = np.zeros(yy)
=0
=0
=0
=0
=0
= np.zeros(yy)
np.zeros(yy)
= np.zeros(yy)
= np.zeros(yy)
= np.zeros(yy)
le t<=T:
if t==0
psiNH2 = psieQ2
psiNC2 = psieC2
psiNF3 = psieQ3
psiNG3 = psieQ3
psiNC3 = psieC3
else :
psiNH2 = np.dot(UH2, psiNH2)
psiNC2 = np.dot(UC2, psiNC2
psiNF3 = np.dot(UF3, psiNF3)
psiNG3 = np.dot(UG3, psiNG3)
psiNC3 = np.dot(UC3, psiNC3)
#===Hadamard: 2D===================
psiNH2[ (Lev-1)*2] = @
psiNH2[ ((Lev-1)*2)+1] = @
# ________________________________________
Norm_psiNH2[t] = psiNH2.dot(psiNH2.conjugate()).real
Arriva_probH2[t] = 1 - Norm_psiNH2[t]
#===Grover: 3D====================
psiNG3[(Lev-1)*3] = @
psiNG3[((Lev-1)*3)+1] = @
psiNG3[((Lev-1)*3)+2] = @
e m e e - -
Norm_psiNG3[t] = psiNG3.dot(psiNG3.conjugate()).real
Arriva_probG3[t] = 1 - Norm_psiNG3[t]
#===Fourier: 3D======================
psiNF3[(Lev-1)*3] = @
psiNF3[((Lev-1)*3)+1] = @
psiNF3[((Lev-1)*3)+2] = @
Bomm e - -
Norm_psiNF3[t] = psiNF3.dot(psiNF3.conjugate()).real
Arriva_probF3[t] = 1 - Norm_psiNF3[t]
#===classic: 2D ======================
aC2 = aC2 + psiNC2[(Lev-1)]
Arriva_probC2[t] = aC2
psiNC2[(Lev-1)] = @
#===classic: 3D ======================
aC3 = aC3 + psiNC3[(Lev-1)]
Arriva_probC3[t] = aC3
psiNC3[(Lev-1)] = @
t+=1
1
=== the plotted part =======================================
orLocator = AutoMinorLocator()

, ax = plt.subplots()
plot(Arriva_probH2, 'r-', label='H 2D', markersize=20, linewidth=7)

plot(Arriva_probF3, 'b:', label='F 3D', markersize=20, linewidth=7)
plot(Arriva_probC2, 'k-', label='C 2D', markersize=20, linewidth=7)
plot(Arriva_probC3, 'k--', label='C 3D', markersize=20, linewidth=7)
xticks(np.arange (0, yy, 20))

xlim(@, yy)

ylim(o, 1)

yaxis.set_minor_locator(minorLocator)
grid(which="both")

.grid(which="minor', 1w=0.5, ls=':")

grid(which="major"', lw=1, 1ls='--"')

tick_params(axis='x"', which="major', labelsize=70, width=6, length=20,
tick_params(axis='x"', which="minor', labelsize=70, width=2, length=10,
tick_params(axis='y', which="major', labelsize=70, width=6, length=20,
tick_params(axis='y', which="minor', labelsize=70, width=2, length=10,
set_xlabel('Steps number', fontsize=65)

set_ylabel('Arrival Probability', color='k', fontsize=65)

tl in ax.get_yticklabels():

set_color('k")

xaxis.set_minor_locator(MultiplelLocator(50))
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plot(Arriva_probG3, 'b--', label='G 3D', markersize=20, linewidth=7, c='lime")

colors="k")
colors="k")
colors="k")
colors="k")



ax.yaxis.set_minor_locator(MultiplelLocator(0.10))
plt.title('Arrival probability.circle ‘'+str(Lev)+'
"+str(T)+"' steps', fontsize=16)
plt.legend(fontsize=30)

figManager = plt.get_current_fig_manager()
figManager.window.showMaximized()
plt.tight_layout()
plt.show()

print ('daeal')

H#------ the End of the code

levels,

initial state(node 1,

and equal mixture all coin state)

print ('ﬂajldu;j\ﬁleq')
#Author: Hamza Bougroura
Import the requirement module
import numpy as np

import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator
#===define the critical number

T =700 # number of random steps
N = 60 # number of positions in space (nodes)
Lev = 10 # Level of graph

#=== define the operators

#====generate possible steps

G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -1]]))/(3.)
G4 = (np.array([[-2, 2, 2, 2], [2, -2, 2, 2], [2, 2, -2, 2], [2, 2, 2, -2]]))/(4.)
F3 = (np.fft.fft(np.eye(3)))/np.sqrt(3.)
F4 = (np.fft.fft(np.eye(4)))/np.sqrt(4.)
H4 = (nP-af‘f‘aY([[l; 1; 1) 1]: [1) _11 1: _1]) [1) 1; _11 _1].' [1J _1) _1) 1]]))/(2')
ft========== Define the coni states ======================================
coin3 = np.array([[1, ©, @], [e, 1, @], [e, @, 1]])
coin4 = np.array([[1, @, @, @], [6, 1, @, @], [0, 0, 1, @], [0, @, 0, 1]])
#t=====generate nodes states =================================c=s=ssooosas
node = np.zeros((N+1, N))
k=0
while k<N:

space = np.zeros(N)

space[k] =1

node[k+1] = space

k+=1

osl = np.outer(node[1], node[1]) +np.outer(node[2], node[2]) +np.outer(node[3], node[3]) +np.outer(node[4], node[4])

+np.outer(node[5], node[5]) +np.outer(node[6], node[6])

0s2 = 0sl + np.outer(node[7], node[7]) +np.outer(node[8], node[8])
node[10])+np.outer(node[11], node[11])+np.outer(node[12], node[12])
0s3 =
node[16])+np.outer(node[17], node[17])+np.outer(node[18], node[18])

0s4 = 0s3 + np.outer(node[19], node[19])+np.outer(node[20], node[20])+np.

node[22])+np.outer(node[23], node[23])+np.outer(node[24], node[24])
0s5 =
node[28])+np.outer(node[29], node[29])+np.outer(node[30], node[30])

0s6 = 0s5 + np.outer(node[31], node[31])+np.outer(node[32], node[32])+np.

node[34])+np.outer(node[35], node[35])+np.outer(node[36], node[36])
0s7 =
node[40])+np.outer(node[41], node[41])+np.outer(node[42], node[42])

0s8 = 0s7 + np.outer(node[43], node[43])+np.outer(node[44], node[44])+np.

node[46])+np.outer(node[47], node[47])+np.outer(node[48], node[48])

0s9 = 0s8 + np.outer(node[49], node[49])+np.outer(node[50], node[50])+np.

node[52])+np.outer(node[53], node[53])+np.outer(node[54], node[54])

0s10= 0s9 + np.outer(node[55], node[55])+np.outer(node[56], node[56])+np.

node[58])+np.outer(node[59], node[59])+np.outer(node[60], node[60])
# 0s10: represent the possible jumping in space corresponding to |0><O0|

xsl = np.outer(node[3], node[1]) + np.outer(node[5], node[2]) + np.outer(node[1], node[3]) + np.outer(node[9], node[4])

+np.outer(node[2], node[5]) + np.outer(node[12], node[6])

xs2 = xsl1l + np.outer(node[8], node[7]) +np.outer(node[7], node[8])
node[10])+np.outer(node[19], node[11])+np.outer(node[6], node[12])
Xs3 =
node[16])+np.outer(node[10], node[17])+np.outer(node[28], node[18])

xs4 = xs3 + np.outer(node[11], node[19])+np.outer(node[30], node[20])+np.

node[22])+np.outer(node[14], node[23])+np.outer(node[15], node[24])
Xs5 =
node[28])+np.outer(node[38], node[29])+np.outer(node[20], node[30])

Xs6 = xs5 + np.outer(node[21], node[31])+np.outer(node[42], node[32])+np.

node[34])+np.outer(node[25], node[35])+np.outer(node[46], node[36])

Xs7 = xs6 + np.outer(node[27], node[37])+np.outer(node[29], node[38])+np.

node[40])+np.outer(node[50], node[41])+np.outer(node[32], node[42])

xs8 = xs7 + np.outer(node[33], node[43])+np.outer(node[34], node[44])+np.

node[47])+np.outer(node[47], node[48])

xs9 = xs8 + np.outer(node[57], node[49])+np.outer(node[41], node[50])+np.

node[52])+np.outer(node[58], node[53])+np.outer(node[55], node[54])
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0s2 + np.outer(node[13], node[13])+np.outer(node[14], node[14])+np.

0s4 + np.outer(node[25], node[25])+np.outer(node[26], node[26])+np.

0s6 + np.outer(node[37], node[37])+np.outer(node[38], node[38])+np.

xs2 + np.outer(node[22], node[13])+np.outer(node[23], node[14])+np.

xs4 + np.outer(node[35], node[25])+np.outer(node[16], node[26])+np.

+np.outer(node[9], node[9])

outer(node[15],
outer(node[21],
outer(node[27],
outer(node[33],
outer(node[39],
outer(node[45],
outer(node[51],

outer(node[57],

+np.outer(node[4], node[9])

outer(node[24],
outer(node[31],
outer(node[37],
outer(node[43],
outer(node[40],
outer(node[36],

outer(node[52],

+np.
node[15])+np.
node[21])+np.
node[27])+np.
node[33])+np.
node[39])+np.
node[45])+np.
node[51])+np.

node[57])+np.

+np.
node[15])+np.
node[21])+np.
node[27])+np.
node[33])+np.
node[39])+np.
node[46])+np.

node[51])+np.

outer(node[10],
outer(node[16],
outer(node[22],
outer(node[28],
outer(node[34],
outer(node[40],
outer(node[46],
outer(node[52],

outer(node[58],

outer(node[17],
outer(node[26],
outer(node[13],
outer(node[18],
outer(node[44],
outer(node[39],
outer(node[48],

outer(node[51],



xs10= xs9 + np.outer(node[54], node[55])+np.outer(node[59], node[56])+np.outer(node[49], node[57])+np.outer(node[53],
node[58])+np.outer(node[56], node[59])
# xs1@: represent the possible jumping in space corresponding to |X><X|

ysl = np.outer(node[4], node[1]) +np.outer(node[1@], node[2]) +np.outer(node[7], node[3]) +np.outer(node[1], node[4])
+np.outer(node[12], node[5]) +np.outer(node[13], node[6])

ys2 = ysl1l + np.outer(node[3], node[7]) + np.outer(node[15], node[8]) + np.outer(node[17], node[9]) + np.outer(node[2],
node[10]) + np.outer(node[18], node[11])+ np.outer(node[5], node[12])

ys3 = ys2 + np.outer(node[6], node[13]) +np.outer(node[22], node[14])+np.outer(node[8], node[15]) +np.outer(node[25],
node[16])+np.outer(node[9], node[17]) +np.outer(node[11l], node[18])

ys4 = ys3 + np.outer(node[30], node[19])+np.outer(node[21], node[20])+np.outer(node[20], node[21])+np.outer(node[14],
node[22])+np.outer(node[24], node[23])+np.outer(node[23], node[24])

ys5 = ys4 + np.outer(node[16], node[25])+np.outer(node[27], node[26])+np.outer(node[26], node[27])+np.outer(node[37],
node[28])+np.outer(node[39], node[29])+np.outer(node[19], node[30])

ys6 = ys5 + np.outer(node[42], node[31])+np.outer(node[33], node[32])+np.outer(node[32], node[33])+np.outer(node[35],
node[34])+np.outer(node[34], node[35])+np.outer(node[45], node[36])

ys7 = ys6 + np.outer(node[28], node[37])+np.outer(node[48], node[38])+np.outer(node[29], node[39])+np.outer(node[41],
node[40])+np.outer(node[40], node[41])+np.outer(node[31], node[42])

ys8 = ys7 + np.outer(node[44], node[43])+np.outer(node[43], node[44])+np.outer(node[36], node[45])+np.outer(node[47],
node[46])+np.outer(node[46], node[47])+np.outer(node[38], node[48])

ys9 = ys8 + np.outer(node[56], node[49])+np.outer(node[51], node[50])+np.outer(node[50], node[51])+np.outer(node[58],
node[52])+np.outer(node[54], node[53])+np.outer(node[53], node[54])

ys1le= ys9 + np.outer(node[59], node[55])+np.outer(node[49], node[56])+np.outer(node[60], node[57])+np.outer(node[52],
node[58])+np.outer(node[55], node[59])+np.outer(node[57], node[60])

# ys1@: represent the possible jumping in space corresponding to |Y><Y|

zsl = np.outer(node[2], node[1]) +np.outer(node[1], node[2])+np.outer(node[6], node[3]) +np.outer(node[8], node[4])
+np.outer(node[11], node[5]) +np.outer(node[3], node[6])

zs2 = zsl + np.outer(node[14], node[7]) +np.outer(node[4], node[8]) +np.outer(node[16], node[9]) +np.outer(node[18],
node[10])+np.outer(node[5], node[11]) +np.outer(node[20], node[12])

zs3 = zs2 + np.outer(node[21], node[13])+np.outer(node[7], node[14]) +np.outer(node[25], node[15])+ np.outer(node[9],
node[16]) +np.outer(node[27], node[17])+np.outer(node[10], node[18])

zs4 = zs3 + np.outer(node[29], node[19])+np.outer(node[12], node[20])+np.outer(node[13], node[21])+np.outer(node[32],
node[22])+np.outer(node[33], node[23])+np.outer(node[34], node[24])

zs5 = zs4 + np.outer(node[15], node[25])+np.outer(node[36], node[26])+np.outer(node[17], node[27])+np.outer(node[38],
node[28])+np.outer(node[19], node[29])+np.outer(node[40], node[30])

zs6 = zs5 + np.outer(node[41], node[31])+np.outer(node[22], node[32])+np.outer(node[23], node[33])+np.outer(node[24],
node[34])+np.outer(node[45], node[35])+np.outer(node[26], node[36])

zs7 = zs6 + np.outer(node[47], node[37])+np.outer(node[28], node[38])+np.outer(node[49], node[39])+np.outer(node[30],
node[40])+np.outer(node[31], node[41])+np.outer(node[51], node[42])

zs8 = zs7 + np.outer(node[52], node[43])+np.outer(node[53], node[44])+np.outer(node[35], node[45])+np.outer(node[55],
node[46])+np.outer(node[37], node[47])+np.outer(node[56], node[48])

zs9 = zs8 + np.outer(node[39], node[49])+np.outer(node[57], node[5@])+np.outer(node[42], node[51])+np.outer(node[43],
node[52])+np.outer(node[44], node[53])

zs10= zs9 + np.outer(node[46], node[55])+np.outer(node[48], node[56])+np.outer(node[50], node[57])+np.outer(node[60],
node[58])+ np.outer(node[58], node[60])

# zs1@: represent the possible jumping in space corresponding to |Z><Z|

# the except four jumping space are(corresponding to |Z><X| and |X><Z|)

node54_45= np.outer(node[54], node[45])

node45_54= np.outer(node[45], node[54])

node60_59= np.outer(node[60], node[59])

node59_60= np.outer(node[59], node[60])

# the coin state terms that we need without change (in 4D)

coo4 = np.outer(coin4[@], coin4[@])

cxx4 = np.outer(coin4[1], coin4[1])

cyy4 = np.outer(coin4[2], coin4[2])

czz4 = np.outer(coin4[3], coin4[3])

# the coin state terms that we need without change (in 3D)

cxx3 = np.outer(coin3[@], coin3[0])

cyy3 = np.outer(coin3[1], coin3[1])

czz3 = np.outer(coin3[2], coin3[2])

# the coin state terms that we need with change (in 4D)

czx4 = np.outer(coin4[3], coin4[1])

cxz4 = np.outer(coin4[1], coin4[3])

# the coin state terms that we need with change (in 3D)

czx3 = np.outer(coin3[2], coin3[0@])

cxz3 = np.outer(coin3[@], coin3[2])

# in the following terms there is not change in the coin state when the jumping in space is happenig (4D)
S_hat_04 = np.kron(osl10, coo4)

S_hat_X4 = np.kron(xsl10, cxx4)

S_hat_Y4 = np.kron(ysle, cyy4)

S_hat_z4 = np.kron(zsle, czz4)

# in the following terms there is not change in the coin state when the jumping in space is happenig (3D)
S_hat_X3 = np.kron(xs10, cxx3)

S_hat_Y3 = np.kron(ysl10, cyy3)

S_hat_z3 = np.kron(zsle, czz3)

# However there is only four terms that we should change the coin state when the jumping in space is happening (4D)
zx4_54_45 = np.kron(node54_45, czx4)

xz4_45 54 = np.kron(node45 54, cxz4)

xz4_60_59 = np.kron(node60_59, cxz4)

zx4_59 60 = np.kron(node59_60, czx4)

# However there is only four terms that we should change the coin state when the jumping in space is happening (3D)
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zx3_54_45
Xz3_45_54
Xz3_60_59
zx3_59_60
# Finally
S_hatQ4 =
S_hatQ3 =
S_hatC4 =

= np.kron(node54_45, czx3)

= np.kron(node45_54, cxz3)

= np.kron(node6@_59, cxz3)

= np.kron(node59_60, czx3)

the Shift operator is:

S_hat_04 + S_hat_X4 + S_hat_Y4 + S_hat_7Z4 + zx4_54_45 + xz4_45 54 + xz4 60 _59 + zx4_59 60
S_hat_X3 + S_hat_Y3 + S_hat_73 + zx3_54_45 + xz3_45 54 + xz3_60_59 + zx3_59 60

0s10 + xs10 + ysl1le + zs10 + node54_45 + node45 54 + node6@ 59 + node59_60

= Xs10 + ysl1l0 + zs10 + node54_45 + node45_54 + node60_59 + node59 60

#======= Evolution operator =======================
UH4 = S_hatQ4.dot(np.kron(np.eye(N), H4))

UG4 = S_hatQ4.dot(np.kron(np.eye(N), G4))

UF4 = S_hatQ4.dot(np.kron(np.eye(N), F4))

UG3 = S_hatQ3.dot(np.kron(np.eye(N), G3))

UF3 = S_hatQ3.dot(np.kron(np.eye(N), F3))

UC4= S_hatC4/4

UC3= S_hatC3/3

define the initial state Psi(zero)===
= np.kron(node[1], (coin4[@]+coin4[1]+coin4[2]+coin4[3])/np.sqrt(4.))
= np.kron(node[1], (coin3[@]+coin3[1]+coin3[2])/np.sqrt(3.))

= node[1]

= node[1]
yy= T+1
Arri_Prob_H4 = np.zeros(yy)
Arri_Prob_G3 = np.zeros(yy)
Arri_Prob_G4 = np.zeros(yy)
Arri_Prob_F3 = np.zeros(yy)
Arri_Prob_F4 = np.zeros(yy)
Arri_Prob_C3 = np.zeros(yy)
Arri_Prob_C4 = np.zeros(yy)

Norm_psi_t_H4

np.zeros(yy)

Norm_psi_t_G3 = np.zeros(yy)
Norm_psi_t_G4 = np.zeros(yy)
Norm_psi_t_F3 = np.zeros(yy)
Norm_psi_t_F4 = np.zeros(yy)
Norm_psi_t_C3 = np.zeros(yy)
Norm_psi_t_C4 = np.zeros(yy)

aH4 =0
aG4 =0
aG3 =0
aF4 =0
aF3 =0
aC4 =0
aC3 =0

bH4 = np.zeros(yy)
bG4 = np.zeros(yy)

bG3 = np.zeros(yy)
bF4 = np.zeros(yy)
bF3 = np.zeros(yy)
bC4 = np.zeros(yy)
bC3 = np.zeros(yy)
# _____________________________________________________________________________
t=0
while t<=T:
if t==0:
psi_t_G3 = psieqQ3
psi_t_G4 = psieQd
psi_t_F3 = psieqQ3
psi_t_F4 = psieQ4
psi_t_H4 = psieQd
psi_t_C3 = psiecC3
psi_t_C4 = psiec4
else :
psi_t_G4 = np.dot(UG4, psi_t_G4)
psi_t_G3 = np.dot(UG3, psi_t_G3)
psi_t_F3 = np.dot(UF3, psi_t_F3)
psi_t_F4 = np.dot(UF4, psi_t_F4)
psi_t_H4 = np.dot(UH4, psi_t_H4)
psi_t_C4 = np.dot(UC4, psi_t_C4)
psi_t_C3 = np.dot(UC3, psi_t_C3)
#====Grover 3D=================================

e3 = ((59)*3)
while e3<(60*3):
psi_t G3[e3] = 0
e3+=1

Norm_psi_t_G3[t] = psi_t_G3.dot(psi_t_G3.conjugate()).real
Arri_Prob_G3[t] = 1 - Norm_psi_t G3[t]

#

====Grover 4D=================================

e4 = ((59)*4)
while e4<(60%*4):
psi_t GA[e4] = ©
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Norm_psi_t_G4[t] = psi_t_G4.dot(psi_t_G4.conjugate()).real
Arri_Prob_G4[t] = 1 - Norm_psi_t G4[t]

#====Fourier 3D=================================

e3 = ((59)*3)

while e3<(60*3):

psi_t F3[e3] = 0

Norm_psi_t_F3[t] = psi_t_F3.dot(psi_t_F3.conjugate()).real
Arri_Prob_F3[t] = 1 - Norm_psi_t F3[t]

#====Fourier 4D====

e4 = ((59)*4)

while e4<(60%*4):

psi_t_F4[e4] = ©

e4+=1

Norm_psi_t_F4[t] = psi_t_F4.dot(psi_t_F4.conjugate()).real
Arri_Prob_F4[t] = 1 - Norm_psi_t_F4[t]

#========== Hadamard 4D=========================

e4 = ((59)*4)

while e4<(60*4):

psi_t_H4[ed] = ©

e4+=1

Norm_psi_t_H4[t] = psi_t_H4.dot(psi_t_H4.conjugate()).real
Arri_Prob_H4[t] = 1 - Norm_psi_t_H4[t]

H#=========classical case 4D=======================
psi_t_C4[59]=0
Hmm e m e e e e

Norm_psi_t_C4[t] = np.sum(psi_t_C4)
Arri_Prob_C4[t] = 1 - Norm_psi_t_C4[t]

H#=========classical case 3D=======================
psi_t_C3[59]=0
B o mmmm e e e e e e e

Norm_psi_t C3[t] = np.sum(psi_t_C3)
Arri_Prob_C3[t] = 1 - Norm_psi_t C3[t]
t+=1

#======= the plotting part of the arrival probability vector===================
minorLocator = AutoMinorLocator()

fig, ax = plt.subplots()

plt.plot(Arri_Prob_G3, 'g-', label='G 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_G4, 'g--', label='G 4D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_F3, 'c-', label='F 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_F4, 'c--', label='F 4D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_H4, 'y--', label='H 4D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_C3, 'k-', label='C 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_C4, 'k--', label='C 4D', markersize=12, linewidth=7)
ax.xaxis.set_minor_locator(minorLocator)

ax.tick_params(axis='x', which="major', labelsize=70, width=6, length=20, colors='k")
ax.tick_params(axis='x"', which="minor', labelsize=70, width=2, length=20, colors='k')
ax.tick_params(axis='y', which="major', labelsize=70, width=2, length=20, colors='k')
ax.set_xlabel('Steps number', fontsize=65)

ax.set_ylabel('Arrival probability', color='k', fontsize=65)

for tl in ax.get_yticklabels():

tl.set_color('k")

plt.x1lim(0, yy)

plt.ylim(0, 1)

plt.title('Arrival probability.C6@.initial state (Single atom, and equel mixture of all coin stetes, after ' + str(T) + ' steps’,
fontsize=25)

plt.legend(fontsize=20, loc='best', borderaxespad=90.)

figManager = plt.get_current_fig_manager()

figManager.window.showMaximized()

plt.tight_layout()

plt.show()

print ('daall')

H#------ the End of the code --------mmmmm oo oo oo e e

pr\int('h\;)ﬂ Gan )l Aiﬂr,....g')

#Author: Hamza Bougroura

#=== Import the requirement module ===============
import numpy as np

import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator
#===Define the critical number ====================
T = 200 # number of random steps

N = 60 # number of positions in space (nodes)
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Lev = 8 # Level of graph
#===Define Grover coin operator 3D =================
G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -111))/(3.)

#=====generate coin state =====================================
coin3 = np.array([[1, @, @], [e, 1, @], [0, @, 1]])
#=====generate space state that represent nodes ================
node = np.zeros((N+1, N))
k=0
while k<N:

space = np.zeros(N)

space[k] =1

node[k+1] = space

k+=1
#====generate possible steps ===================================
osl = np.outer(node[1], node[1]) +np.outer(node[2], node[2]) +np.outer(node[3], node[3]) +np.outer(node[4], node[4])

+np.outer(node[5], node[5]) +np.outer(node[6], node[6])
0s2 = o0sl + np.outer(node[7], node[7]) +np.outer(node[8], node[8]) +np.outer(node[9], node[9]) +np.outer(node[10],
node[10])+np.outer(node[11], node[11])+np.outer(node[12], node[12])

0s3 = 0s2 + np.outer(node[13], node[13])+np.outer(node[14], node[14])+np.outer(node[15], node[15])+np.outer(node[16],
node[16])+np.outer(node[17], node[17])+np.outer(node[18], node[18])
0os4 = o0s3 + np.outer(node[19], node[19])+np.outer(node[20], node[20])+np.outer(node[21], node[21])+np.outer(node[22],
node[22])+np.outer(node[23], node[23])+np.outer(node[24], node[24])
0os5 = o0s4 + np.outer(node[25], node[25])+np.outer(node[26], node[26])+np.outer(node[27], node[27])+np.outer(node[28],
node[28])+np.outer(node[29], node[29])+np.outer(node[30], node[30])
0s6 = o0s5 + np.outer(node[31], node[31])+np.outer(node[32], node[32])+np.outer(node[33], node[33])+np.outer(node[34],
node[34])+np.outer(node[35], node[35])+np.outer(node[36], node[36])
0os7 = 0s6 + np.outer(node[37], node[37])+np.outer(node[38], node[38])+np.outer(node[39], node[39])+np.outer(node[40],
node[40])+np.outer(node[41], node[41])+np.outer(node[42], node[42])
0s8 = o0s7 + np.outer(node[43], node[43])+np.outer(node[44], node[44])+np.outer(node[45], node[45])+np.outer(node[46],
node[46])+np.outer(node[47], node[47])+np.outer(node[48], node[48])
0s9 = 0s8 + np.outer(node[49], node[49])+np.outer(node[50], node[50])+np.outer(node[51], node[51])+np.outer(node[52],

node[52])+np.outer(node[53], node[53])+np.outer(node[54], node[54])

0s10= 0s9 + np.outer(node[55], node[55])+np.outer(node[56], node[56])+np.outer(node[57], node[57])+np.outer(node[58],
node[58])+np.outer(node[59], node[59])+np.outer(node[60], node[60])

# 0s10: represent the possible jumping in space corresponding to |0><O0|

xsl = np.outer(node[2], node[1]) +np.outer(node[1], node[2]) +np.outer(node[4], node[3]) +np.outer(node[3], node[4])
+np.outer(node[10], node[5]) +np.outer(node[11], node[6])

xs2 = xsl + np.outer(node[12], node[7]) +np.outer(node[15], node[8])+np.outer(node[16], node[9])+np.outer(node[5],
node[10])+np.outer(node[6], node[11]) +np.outer(node[7], node[12])

xs3 = xs2 + np.outer(node[14], node[13])+np.outer(node[13], node[14])+np.outer(node[8], node[15])+np.outer(node[9],
node[16])+np.outer(node[27], node[17])+np.outer(node[28], node[18])

xs4 = xs3 + np.outer(node[20], node[19])+np.outer(node[19], node[20])+np.outer(node[35], node[21])+np.outer(node[34],
node[22])+np.outer(node[33], node[23])+np.outer(node[32], node[24])

xs5 = xs4 + np.outer(node[31], node[25])+np.outer(node[40], node[26])+np.outer(node[17], node[27])+np.outer(node[18],
node[28])+np.outer(node[37], node[29])+np.outer(node[36], node[30])

xs6 = xs5 + np.outer(node[25], node[31])+np.outer(node[24], node[32])+np.outer(node[23], node[33])+np.outer(node[22],
node[34])+np.outer(node[21], node[35])+np.outer(node[30], node[36])

Xxs7 = xs6 + np.outer(node[29], node[37])+np.outer(node[48], node[38])+np.outer(node[26], node[40])+np.outer(node[42],
node[41])+np.outer(node[41], node[42])

xs8 = xs7 + np.outer(node[51], node[43])+np.outer(node[52], node[44])+np.outer(node[46], node[45])+np.outer(node[45],
node[46])+np.outer(node[53], node[47])+np.outer(node[38], node[48])

xs9 = xs8 + np.outer(node[54], node[49])+np.outer(node[55], node[50])+np.outer(node[43], node[51])+np.outer(node[44],

node[52])+np.outer(node[47], node[53])+np.outer(node[49], node[54])

xs10= xs9 + np.outer(node[50], node[55])+np.outer(node[57], node[56])+np.outer(node[56], node[57])+np.outer(node[59],
node[58])+np.outer(node[58], node[59])

# xs10: represent the possible jumping in space corresponding to |X><X|

ysl = np.outer(node[5], node[1]) +np.outer(node[3], node[2]) +np.outer(node[2], node[3]) +np.outer(node[9], node[4])
+np.outer(node[1], node[5]) +np.outer(node[20], node[6])

ys2 = ysl + np.outer(node[13], node[7]) +np.outer(node[14], node[8]) +np.outer(node[4], node[9]) +np.outer(node[19],
node[10])+np.outer(node[12], node[11])+np.outer(node[11l], node[12])

ys3 = ys2 + np.outer(node[7], node[13]) +np.outer(node[8], node[14]) +np.outer(node[16], node[15])+np.outer(node[15],
node[16])+np.outer(node[18], node[17])+np.outer(node[17], node[18])

ys4 = ys3 + np.outer(node[10], node[19])+np.outer(node[6], node[20]) +np.outer(node[30], node[21])+np.outer(node[23],
node[22])+np.outer(node[22], node[23])+np.outer(node[25], node[24])

ys5 = ys4 + np.outer(node[24], node[25])+np.outer(node[27], node[26])+np.outer(node[26], node[27])+np.outer(node[29],
node[28])+np.outer(node[28], node[29])+np.outer(node[21], node[30])

ys6 = ys5 + np.outer(node[40], node[31])+np.outer(node[33], node[32])+np.outer(node[32], node[33])+np.outer(node[35],
node[34])+np.outer(node[34], node[35])+np.outer(node[37], node[36])

ys7 = ys6 + np.outer(node[36], node[37])+np.outer(node[39], node[38])+np.outer(node[38], node[39])+np.outer(node[31],
node[40])+np.outer(node[55], node[41])+np.outer(node[51], node[42])

ys8 = ys7 + np.outer(node[44], node[43])+np.outer(node[43], node[44])+np.outer(node[52], node[45])+np.outer(node[53],
node[46])+np.outer(node[48], node[47])+np.outer(node[47], node[48])

ys9 = ys8 + np.outer(node[50], node[49])+np.outer(node[49], node[50])+np.outer(node[42], node[51])+np.outer(node[45],

node[52])+np.outer(node[46], node[53])+np.outer(node[59], node[54])

ysle= ys9 + np.outer(node[41], node[55])+np.outer(node[60], node[56])+np.outer(node[58], node[57])+np.outer(node[57],
node[58])+np.outer(node[54], node[59])+np.outer(node[56], node[60])

# ysl@: represent the possible jumping in space corresponding to |Y><Y|

zsl = np.outer(node[6], node[1]) +np.outer(node[7], node[2]) +np.outer(node[8], node[3]) +np.outer(node[5], node[4])
+np.outer(node[4], node[5]) +np.outer(node[1], node[6])
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zs2 = zs1l + np.outer(node[2], node[7]) +np.outer(node[3], node[8]) +np.outer(node[17], node[9]) +np.
node[10])+np.outer(node[21], node[11])+np.outer(node[22], node[12])

zs3 = zs2 + np.outer(node[23], node[13])+np.outer(node[24], node[14])+np.outer(node[25], node[15])+np.
node[16])+np.outer(node[9], node[17]) +np.outer(node[10@], node[18])

zs4 = zs3 + np.outer(node[29], node[19])+np.outer(node[30], node[20])+np.outer(node[11l], node[21])+np.
node[22])+np.outer(node[13], node[23])+np.outer(node[14], node[24])

zs5 = zs4 + np.outer(node[15], node[25])+np.outer(node[16], node[26])+np.outer(node[39], node[27])+np.
node[28])+np.outer(node[19], node[29])+np.outer(node[20], node[30])

zs6 = zs5 + np.outer(node[41], node[31])+np.outer(node[42], node[32])+np.outer(node[43], node[33])+np.
node[34])+np.outer(node[45], node[35])+np.outer(node[46], node[36])

zs7 = zs6 + np.outer(node[47], node[37])+np.outer(node[28], node[38])+np.outer(node[27], node[39])+np.
node[40])+np.outer(node[31], node[41])+np.outer(node[32], node[42])

zs8 = zs7 + np.outer(node[33], node[43])+np.outer(node[34], node[44])+np.outer(node[35], node[45])+np.
node[46])+np.outer(node[37], node[47])+np.outer(node[54], node[48])

zs9 = zs8 + np.outer(node[40], node[50])+np.outer(node[56], node[51])+np.outer(node[57], node[52])+np.
node[53])+np.outer(node[48], node[54])

zs1l0= zs9 + np.outer(node[60], node[55])+np.outer(node[51], node[56])+np.outer(node[52], node[57])+np.
node[58])+np.outer(node[55], node[60])

# zs1@: represent the possible jumping in space corresponding to |Z><Z|

# the except four jumping space are(corresponding to |Z><X| and |X><Z|)
node49 39= np.outer(node[49], node[39])

node39_49= np.outer(node[39], node[49])

node6@_59= np.outer(node[60], node[59])

node59_60= np.outer(node[59], node[60])

# the coin state terms that we need without change (in 3D)
cxx3 = np.outer(coin3[@], coin3[0])

cyy3 = np.outer(coin3[1], coin3[1])

czz3 = np.outer(coin3[2], coin3[2])

# the coin state terms that we need with change (in 3D)
czx3 = np.outer(coin3[2], coin3[0@])

cxz3 = np.outer(coin3[@], coin3[2])

# in the

outer(node[18],
outer(node[26],
outer(node[12],
outer(node[38],
outer(node[44],
outer(node[50],
outer(node[36],
outer(node[58],

outer(node[53],

S_hat_X3
S_hat_Y3
S_hat_z3

following terms
np.kron(xs10,
np.kron(ysie0,
np.kron(zs1e,

there is not change in the coin state when the jumping in space is happenig (3D)
cxx3)
cyy3)
czz3)

# However
zx3_49_39
xz3_39 49
Xz3_60_59
zx3_59_60
# Finally
S_hatQ3
S_hatC3

there is only four terms that we should change the coin state when the jumping in space is happening (3D)
np.kron(node49 39, czx3)
np.kron(node39_49, cxz3)
np.kron(node6@_59, cxz3)

= np.kron(node59_60, czx3)
the Shift operator is:

S_hat_X3 + S_hat_Y3 + S_hat_73 + zx3_49 39 + xz3_39 49 + xz3_60_59 + zx3_59 60

xs10 + ys10 + zs1l0 + node49_39 + node39 49 + node60_59 + node59_60

Evolution operator
S_hatQ3.dot(np.kron(np.eye(N), G3))

UC3 = S_hatC3/3
#t===Define the initial system state psi(zero)

psi_©_Q3 = np.kron((node[1]+node[2]+node[3]+node[4]+node[5])/np.sqrt(5.), (coin3[@]+coin3[1]+coin3[2])/np.sqrt(3.))
psi_©_C3 =(node[1]+node[2]+node[3]+node[4]+node[5])/(5.)

ff=======================================================

yy= T+1

Arri_Prob_G3
Arri_Prob_C3
aG3 =0

aC3 =0

bG3 = np.zeros(yy)

bC3 = np.zeros(yy)
Norm_psi_t_G3 = np.zeros(yy)
Norm_psi_t_C3 = np.zeros(yy)

np.zeros(yy)
np.zeros(yy)

fi=======================================
t=0
while t<=T:
if t==0:
psi_t_G3 = psi_0_Q3
psi_t_C3 = psi_0_C3
else :
psi_t_G3 = np.dot(UG3, psi_t_G3)
psi_t_C3 = np.dot(UC3, psi_t_C3)

#====Grover 3D=================================

e3 = ((55)*3)

while e3<(60*3):

psi_t G3[e3] = 0

e3+=1

Norm_psi_t_G3[t] = psi_t_G3.dot(psi_t_G3.conjugate()).real
Arri_Prob_G3[t] 1- Norm_psi_t_G3[t]

classical case 3D=======================
psi_t_C3[55]=0

psi_t_C3[56]=0

psi_t_C3[57]=0

psi_t_C3[58]=0

psi_t_C3[59]=0
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Norm_psi_t_C3[t] = np.sum(psi_t_C3)
Arri_Prob_C3[t] = 1 - Norm_psi_t C3[t]

t-=1

#====the plotting part =================

minorLocator = AutoMinorLocator()

fig, ax = plt.subplots()

plt.plot(Arri_Prob_G3, 'g-', label='G 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_C3, 'k-', label='C 3D', markersize=12, linewidth=7)
ax.xaxis.set_minor_locator(minorLocator)

ax.tick_params(axis='x', which="major', labelsize=70, width=6, length=20, colors='k")
ax.tick_params(axis='x"', which="minor', labelsize=70, width=2, length=20, colors='k")
ax.tick_params(axis='"y', which="major', labelsize=70, width=2, length=20, colors='k")
ax.set_xlabel('Steps number', fontsize=65)

ax.set_ylabel('Arrival probability', color='k', fontsize=65)

for tl in ax.get_yticklabels():

tl.set_color('k")

plt.x1lim(0, yy)

plt.ylim(0, 1)

plt.title('Arrival probability,C@6. 8 Levels, starting from 5 vertex and and equal mixture of all coin states.after ' + str(T)
+ ' steps', fontsize=16)

plt.legend(fontsize=20, loc='best', borderaxespad=90.)

figManager = plt.get_current_fig_manager()

figManager.window.showMaximized()

plt.tight_layout()

plt.show()

print ('daeall')

H#------ the End of the code -------- oo mmm oo oo e e e e
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#Author: Hamza Bougroura

#=== Import the requirement module ===============
import numpy as np

import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator
#===Define the critical number ====================
T = 200 # number of random steps

N = 60 # number of positions in space (nodes)

Lev = 8 # Level of graph

#===Define Grover coin operator 3D =================
G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -111))/(3.)

#=====generate coin state =====================================
coin3 = np.array([[1, @, @], [e, 1, @], [0, @, 1]])
#=====generate space state that represent nodes ===============
node = np.zeros((N+1, N))
k=0
while k<N:

space = np.zeros(N)

space[k] = 1

node[k+1] = space

k+=1
#t====generate possible steps ===================================
osl = np.outer(node[1], node[1]) +np.outer(node[2], node[2]) +np.outer(node[3], node[3]) +np.outer(node[4], node[4])

+np.outer(node[5], node[5]) +np.outer(node[6], node[6])
0s2 = o0sl + np.outer(node[7], node[7]) +np.outer(node[8], node[8]) +np.outer(node[9], node[9]) +np.outer(node[10],
node[10])+np.outer(node[11], node[11])+np.outer(node[12], node[12])

0s3 = 0s2 + np.outer(node[13], node[13])+np.outer(node[14], node[14])+np.outer(node[15], node[15])+np.outer(node[16],
node[16])+np.outer(node[17], node[17])+np.outer(node[18], node[18])
0os4 = 0s3 + np.outer(node[19], node[19])+np.outer(node[20], node[20])+np.outer(node[21], node[21])+np.outer(node[22],
node[22])+np.outer(node[23], node[23])+np.outer(node[24], node[24])
0os5 = o0s4 + np.outer(node[25], node[25])+np.outer(node[26], node[26])+np.outer(node[27], node[27])+np.outer(node[28],
node[28])+np.outer(node[29], node[29])+np.outer(node[30], node[30])
0s6 = o0s5 + np.outer(node[31], node[31])+np.outer(node[32], node[32])+np.outer(node[33], node[33])+np.outer(node[34],
node[34])+np.outer(node[35], node[35])+np.outer(node[36], node[36])
0os7 = 0s6 + np.outer(node[37], node[37])+np.outer(node[38], node[38])+np.outer(node[39], node[39])+np.outer(node[40],
node[40])+np.outer(node[41], node[41])+np.outer(node[42], node[42])
0s8 = o0s7 + np.outer(node[43], node[43])+np.outer(node[44], node[44])+np.outer(node[45], node[45])+np.outer(node[46],
node[46])+np.outer(node[47], node[47])+np.outer(node[48], node[48])
0s9 = o0s8 + np.outer(node[49], node[49])+np.outer(node[50], node[50])+np.outer(node[51], node[51])+np.outer(node[52],

node[52])+np.outer(node[53], node[53])+np.outer(node[54], node[54])

0s10= 0s9 + np.outer(node[55], node[55])+np.outer(node[56], node[56])+np.outer(node[57], node[57])+np.outer(node[58],
node[58])+np.outer(node[59], node[59])+np.outer(node[60], node[60])

# 0s1@: represent the possible jumping in space corresponding to |0><0|

xsl = np.outer(node[6], node[1]) +np.outer(node[3], node[2]) +np.outer(node[2], node[3]) +np.outer(node[5], node[4])
+np.outer(node[4], node[5]) +np.outer(node[1], node[6])
xs2 = xsl + np.outer(node[14], node[7]) +np.outer(node[15], node[8]) +np.outer(node[17], node[9]) +np.outer(node[18],

node[10])+np.outer(node[20], node[11])+np.outer(node[13], node[12])
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xs3 = xs2 + np.outer(node[12], node[13])+np.outer(node[7], node[14]) +np.outer(node[8], node[15]) +np.outer(node[25],
node[16])+np.outer(node[9], node[17]) +np.outer(node[10], node[18])

xs4 = xs3 + np.outer(node[28], node[19])+np.outer(node[11], node[20])+np.outer(node[30], node[21])+np.outer(node[35],
node[22])+np.outer(node[33], node[23])+np.outer(node[32], node[24])
xs5 = xs4 + np.outer(node[16], node[25])+np.outer(node[31], node[26])+np.outer(node[39], node[27])+np.outer(node[19],
node[28])+np.outer(node[37], node[29])+np.outer(node[21], node[30])
xs6 = xs5 + np.outer(node[26], node[31])+np.outer(node[24], node[32])+np.outer(node[23], node[33])+np.outer(node[43],
node[34])+np.outer(node[22], node[35])+np.outer(node[45], node[36])
Xxs7 = xs6 + np.outer(node[29], node[37])+np.outer(node[47], node[38])+np.outer(node[27], node[39])+np.outer(node[41],
node[40])+np.outer(node[40], node[41])+np.outer(node[50], node[42])
xs8 = xs7 + np.outer(node[34], node[43])+np.outer(node[52], node[44])+np.outer(node[36], node[45])+np.outer(node[53],
node[46])+np.outer(node[38], node[47])+np.outer(node[54], node[48])
Xxs9 = xs8 + np.outer(node[55], node[49])+np.outer(node[42], node[50])+np.outer(node[44], node[52])+np.outer(node[46],

node[53])+np.outer(node[48], node[54])

xs1l0= xs9 + np.outer(node[49], node[55])+np.outer(node[57], node[56])+np.outer(node[56], node[57])+np.outer(node[59],
node[58])+np.outer(node[58], node[59])

# xs1@: represent the possible jumping in space corresponding to |X><X|

ysl = np.outer(node[7], node[1])+np.outer(node[8], node[2])+np.outer(node[4], node[3]) +np.outer(node[3], node[4])
+np.outer(node[11], node[5])+np.outer(node[12], node[6])
ys2 = ysl + np.outer(node[1], node[7])+np.outer(node[2], node[8])+np.outer(node[16], node[9])+np.outer(node[19],

node[10])+np.outer(node[5], node[11])+np.outer(node[6], node[12])
ys3 = ys2 + np.outer(node[22], node[13])+np.outer(node[15], node[14])+np.outer(node[14], node[15])+np.outer(node[9], node[16])
+np.outer(node[18], node[17])+np.outer(node[17], node[18])

ys4 = ys3 + np.outer(node[10], node[19])+np.outer(node[21], node[20])+np.outer(node[20], node[21])+np.outer(node[13],
node[22])+np.outer(node[34], node[23])+np.outer(node[33], node[24])
ys5 = ys4 + np.outer(node[32], node[25])+np.outer(node[39], node[26])+np.outer(node[38], node[27])+np.outer(node[37],
node[28])+np.outer(node[36], node[29])+np.outer(node[35], node[30])
ys6 = ys5 + np.outer(node[40], node[31])+np.outer(node[25], node[32])+np.outer(node[24], node[33])+np.outer(node[23],
node[34])+np.outer(node[30], node[35])+np.outer(node[29], node[36])
ys7 = ys6 + np.outer(node[28], node[37])+np.outer(node[27], node[38])+np.outer(node[26], node[39])+np.outer(node[31],
node[40])+np.outer(node[50], node[41])+np.outer(node[51], node[42])
ys8 = ys7 + np.outer(node[44], node[43])+np.outer(node[43], node[44])+np.outer(node[52], node[45])+np.outer(node[47],
node[46])+np.outer(node[46], node[47])+np.outer(node[49], node[48])
ys9 = ys8 + np.outer(node[48], node[49])+np.outer(node[41], node[50])+np.outer(node[42], node[51])+np.outer(node[45],

node[52])+np.outer(node[59], node[53])+np.outer(node[60], node[54])

ysle= ys9 + np.outer(node[56], node[55])+np.outer(node[55], node[56])+np.outer(node[58], node[57])+np.outer(node[57],
node[58])+np.outer(node[53], node[59])+np.outer(node[54], node[60])

# ysl@: represent the possible jumping in space corresponding to |Y><Y|

zsl = np.outer(node[2], node[1]) +np.outer(node[1l], node[2]) +np.outer(node[9], node[3]) +np.outer(node[10], node[4])
+np.outer(node[6], node[5]) +np.outer(node[5], node[6])

zs2 = zsl + np.outer(node[13], node[7]) +np.outer(node[16], node[8]) +np.outer(node[3], node[9]) +np.outer(node[4], node[10])
+np.outer(node[19], node[11])+np.outer(node[21], node[12])

zs3 = zs2 + np.outer(node[7], node[13]) +np.outer(node[23], node[14])+np.outer(node[24], node[15])+np.outer(node[8], node[16])
+np.outer(node[26], node[17])+np.outer(node[27], node[18])

zs4 = zs3 + np.outer(node[11], node[19])+np.outer(node[29], node[20])+np.outer(node[12], node[21])+np.outer(node[34],
node[22])+np.outer(node[14], node[23])+np.outer(node[15], node[24])
zs5 = zs4 + np.outer(node[31], node[25])+np.outer(node[17], node[26])+np.outer(node[18], node[27])+np.outer(node[38],
node[28])+np.outer(node[20], node[29])+np.outer(node[36], node[30])
zs6 = zs5 + np.outer(node[25], node[31])+np.outer(node[41], node[32])+np.outer(node[42], node[33])+np.outer(node[22],
node[34])+np.outer(node[44], node[35])+np.outer(node[30], node[36])
zs7 = zs6 + np.outer(node[46], node[37])+np.outer(node[28], node[38])+np.outer(node[48], node[39])+np.outer(node[49],
node[40])+np.outer(node[32], node[41])+np.outer(node[33], node[42])
zs8 = zs7 + np.outer(node[51], node[43])+np.outer(node[35], node[44])+np.outer(node[53], node[45])+np.outer(node[37],
node[46])+np.outer(node[54], node[47])+np.outer(node[39], node[48])
zs9 = zs8 + np.outer(node[40], node[49])+np.outer(node[56], node[50])+np.outer(node[43], node[51])+np.outer(node[58],

node[52])+np.outer(node[45], node[53])+np.outer(node[47], node[54])
zs10= zs9 + np.outer(node[50], node[56])+np.outer(node[52], node[58])+np.outer(node[60], node[59])+np.outer(node[59], node[60])
# zs510: represent the possible jumping in space corresponding to |Z><Z|

# the except four jumping space are(corresponding to |Z><X| and |X><Z|)
node57_51= np.outer(node[57], node[51])

node51_57= np.outer(node[51], node[57])

node6@_55= np.outer(node[60], node[55])

node55_60= np.outer(node[55], node[60])

# the coin state terms that we need without change (in 3D)

cxx3 = np.outer(coin3[@], coin3[0])

cyy3 = np.outer(coin3[1], coin3[1])

czz3 = np.outer(coin3[2], coin3[2])

# the coin state terms that we need with change (in 3D)

czx3 = np.outer(coin3[2], coin3[0@])

cxz3 = np.outer(coin3[@], coin3[2])

# in the following terms there is not change in the coin state when the jumping in space is happenig (3D)

S_hat_X3 = np.kron(xs10, cxx3)
S_hat_Y3 = np.kron(ysl10, cyy3)
S_hat_z3 = np.kron(zsle, czz3)

# However there is only four terms that we should change the coin state when the jumping in space is happening (3D)

zx3_57_51 = np.kron(node57_51, czx3)
xz3_51 57 = np.kron(node51_57, cxz3)
xz3_60_55 = np.kron(node6@_55, cxz3)
zx3_55_60 = np.kron(node55_60, czx3)

#=== Finally the Shift operator is:===
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S_hatQ3 = S_hat_X3 + S_hat_Y3 + S_hat_Z3 + zx3_57_51 + xz3_51_57 + xz3_60_55 + zx3_55_60
S_hatC3 = xs10 + ys1@ + zs10 + node57_51 + node51_57 + node60_55 + node55_60

#===== Evolution operator
UG3 = S_hatQ3.dot(np.kron(np.eye(N), G3))# Grover, quantum 3D

UC3= S_hatC3/3 # classical case 3D

#t======Define the initial state Psi(zero)

psi_©_Q3 = np.kron((node[1]+node[2]+node[3]+node[4]+node[5]+node[6])/np.sqrt(6.),(coin3[@]+coin3[1]+coin3[2])/np.sqrt(3.))
psi_@_C3 = (node[1l]+node[2]+node[3]+node[4]+node[5]+node[6])/(6.)

yy= T+1
Arri_Prob_G3
Arri_Prob_C3
aG3 =0
aC3 =0
bG3

np.zeros(yy)
np.zeros(yy)

np.zeros(yy)

bC3 = np.zeros(yy)

Norm_psi_t G3 =
Norm_psi_t C3 =

np.zeros(yy)
np.zeros(yy)

psi_t_G3 = np.dot(UG3, psi_t_G3)
psi_t_C3 = np.dot(UC3, psi_t_C3)

Norm_psi_t_G3[t] = psi_t_G3.dot(psi_t_G3.conjugate()).real

f==========================================
t=0
while t<=T:
if t==0:
psi_t_G3 = psi_0_Q3
psi_t_C3 = psi_0_C3
else :
#t====Grover 3D==========================
e3 = ((54)*3)
while e3<(60*3):
psi_t_G3[e3] = ©
e3+=1
# _______________________________________
Arri_Prob_G3[t] = 1- Norm_psi_t_G3[t]
#=========classical case 3D
psi_t_C3[54]=0
psi_t_C3[55]=0
psi_t_C3[56]=0
psi_t_C3[57]=0
psi_t_C3[58]=0
psi_t_C3[59]=0
Bommm e e e - -
Norm_psi_t _C3[t] = np.sum(psi_t_C3)
Arri_Prob_C3[t] = 1 - Norm_psi_t C3[t]
Bommm e e e - -
t+=1
t-=1

#====the plotting part =================

minorLocator = AutoMinorLocator()
fig, ax = plt.subplots()

plt.plot(Arri_Prob_G3, 'g-', label='G 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_C3, 'k-', label='C 3D', markersize=12, linewidth=7)

ax.xaxis.set_minor_locator(minorLocator)

ax.tick_params(axis='x"', which="major', labelsize=70, width=6, length=20, colors='k')
ax.tick_params(axis='x"', which="minor', labelsize=70, width=2, length=20, colors='k')
ax.tick_params(axis='y', which="major', labelsize=70, width=2, length=20, colors='k')

ax.set_xlabel('Steps number', fontsize=65)
ax.set_ylabel('Arrival probability', color='k', fontsize=65)

for tl in ax.get_yticklabels():
tl.set_color('k")

plt.x1lim(0, yy)

plt.ylim(@, 1)

plt.title('Arrival probability,C@6. 8 Levels, starting from 6 vertex (hexagonal) and equal mixture of all coin states .after

+ str(T) + ' steps', fontsize=16)

plt.legend(fontsize=20, loc='best', borderaxespad=90.)
figManager = plt.get_current_fig_manager()

figManager.window.showMaximized()
plt.tight_layout()

plt.show()

print ('daeall')

H#eommmmne- end of the code------------------~------

print (el glealldil oyt
#author: Hamza Bougroura

#========= Import the requirement module

import numpy as np
import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator
#t=======Define the critical number ==============
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T = 600 # number of random steps
W=6 # number of vertex in width direction (any number)
R = (2*8)+2 # the number of rings (should be even number)
Lev = (R/2)+1 # number of Level in loop
N = W*R # the whole(entire) number of vertex
0=1
X=1
Y=1
Z=1
#===Define Grover coin operator 3D =================
G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -111))/(3.)
#=====generate coin state =====================================
coin3 = np.array([[1, @, @], [e, 1, @], [0, @, 1]])
#=====generate space state that represent nodes ===============
node = np.zeros((N+1, N))
k=0
while k<N:
space = np.zeros(N)
space[k] =1
node[k+1] = space
k+=1
#====generate steps matrix ==========================
L=N-W
r=v=i=1

0S=XS=ys=zs= 0
while r<=R:

a=b=c=d=1
while v <= (W*r):
if i==1:
if a==1:
al=(2*W)-1
y = np.outer(node[v+al], node[v])
ys =ys +y
a=a+1
else:
a2=W-1
y = np.outer(node[v+a2], node[v])
ys =ys +y
if i==2:
if b==W:
bw=(2*W) -1
y = np.outer(node[v-bw], node[v])
ys =ys +y
else:
b2=W-1
y = np.outer(node[v-b2], node[v])
ys =ys +y
b+=1
if i==3:
if c==W:
y = np.outer(node[v+1], node[v])
ys =ys +y
else:
c2=(W+1)
y = np.outer(node[v+c2], node[v])
ys =ys +y
c+=1
if i==4:
if d==1:
y = np.outer(node[v-1], node[v])
ys =ys +y
d=d+1
else:
d2=W+1
y = np.outer(node[v-d2], node[v])
ys =ys +y
v+=1
r+=1
i+=1
if i==5:
i=1
r=v=1
while r<=R:
while v<=(W*r):
if r==1:
z = np.outer(node[v+W], node[v])
X = np.outer(node[v+L], node[v])
o = np.outer(node[v], node[v])

0S = 0S + 0
Zs = 2zs + z
XS = XS + X
else:
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if r==R:

z = np.outer(node[v-L], node[v])
X = np.outer(node[v-W], node[v])
o = np.outer(node[v], node[v])

0S = 0S + O
Zs = 7S + 2

XS = XS + X

else:

z = np.outer(node[v+W], node[v])
X = np.outer(node[v-W], node[v])
o = np.outer(node[v], node[v])
0Ss = 0S + 0O

Zs = 7S + 2

XS = XS + X

v+=1
r+=1

# the coin state terms that we need without change (in 3D)

cxx3 = np.outer(coin3[@], coin3[0])

cyy3 = np.outer(coin3[1], coin3[1])

czz3 = np.outer(coin3[2], coin3[2])

# the coin state terms that we need with change (in 3D)

czx3 = np.outer(coin3[2], coin3[0@])

cxz3 = np.outer(coin3[@], coin3[2])

# in the following terms no change in the coin state when the jumping in space is happening (3D)
S_hat_X3 = np.kron(xs, czx3)

S_hat_Y3 = np.kron(ys, cyy3)

S_hat_z3 = np.kron(zs, cxz3)

# Finally the Shift operator is:

S_hatQ3 = S_hat_X3 + S_hat_Y3 + S_hat_Z3

S_hatC3 = xs + ys + zs

print ('these results are for W=' + str(W) + ', and R ="' + str(R) + '.")
#======Evolution operator =============

UG3 = S_hatQ3.dot(np.kron(np.eye(N), G3))

UC3 = S_hatC3/3

#======Difine the initial state Psi(zero)=====
i=1
space = np.zeros(N)
while i<=W:
space = space + node[i]
i+=1

psieQ3 = np.kron((space)/np.sqrt(W), ((coin3[0]*X)+(coin3[1]*Y)+(coin3[2]*Z))/np.sqrt((X)+(Y)+(Z)))
psieC3 = ((space))/(W)

yy= T+1
Arri_Prob_G3
Arri_Prob_C3

np.zeros(yy)
np.zeros(yy)

aG3 =0
aC3 =0
bG3 = np.zeros(yy)

bC3 = np.zeros(yy)
Norm_psi_t_G3 = np.zeros(yy)
Norm_psi_t_C3 = np.zeros(yy)

fm=m===========================================
t=0
while t<=T:
if t==0:
psi_t_G3 = psieqQ3
psi_t_C3 = psiecC3
else :
psi_t_G3 = np.dot(UG3, psi_t_G3)
psi_t_C3 = np.dot(UC3, psi_t_C3)
#====Grover 3D======s=======s===s===========s====
e3 = ((Lev-1)*W*3)
while e3<(Lev*W*3):
psi_t_G3[e3] = ©
e3+=1
# _____________________________________________
Norm_psi_t_G3[t] = psi_t_G3.dot(psi_t_G3.conjugate()).real
Arri_Prob_G3[t] = 1 - Norm_psi_t G3[t]
#=========classical case 3D=======================
s =0
while s<W:
psi_t_C3[((Lev-1)*W)+s] = ©
s+=1
R R
Norm_psi_t_C3[t]=np.sum(psi_t_C3)
Arri_Prob_C3[t] = 1 - Norm_psi_t C3[t]
t+=1
t-=1
#===== the plotting part ===========================================

minorLocator = AutoMinorLocator()
fig, ax = plt.subplots()
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.plot(Arri_Prob_G3, 'g-', label='G 3D', markersize=12, linewidth=7)
.plot(Arri_Prob_C3, 'k-', label="'C 3D', markersize=12, linewidth=7)

.Xaxis.set_minor_locator(minorLocator)

tick_params(axis='x"', which="major', labelsize=70, width=6, length=20, colors='k")
tick_params(axis='x"', which="minor', labelsize=70, width=2, length=20, colors='k")

.tick_params(axis='y', which="major', labelsize=70, width=2, length=20, colors='k")

set_xlabel('Steps number', fontsize=65)

.set_ylabel('Arrival probability', color='k', fontsize=65)

tl in ax.get_yticklabels():

set_color('k")

x1lim(@, yy)

.ylim(e, 1)

.title('Arrival probability.ZigZag loop ('+str(Lev)+' Levels),'+str(W)+' width, '+str(R)+' ring,initial state: '+str(W)+' node
qual mixture of all coin states.after '+str(T)+' steps', fontsize=16)

.legend(fontsize=20, loc='best', borderaxespad=90.)

Manager = plt.get_current_fig_manager()

Manager.window.showMaximized()

.tight_layout()
.show()
nt ('diaeal')
----the End of the code -----------m-m oo
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thor: Hamza Bougroura

==== Import the requirement module ======================
ort numpy as np

ort matplotlib.pyplot as plt

m matplotlib.ticker import AutoMinorLocator

====== Define the critical number ======================
# number of random steps

# number of vertex in width direction (any number)
(2*8)+2 # the number of rings (should be even number)
= (R/2)+1 # number of Level in loop

W*R # the whole(entire) number of vertex

=Define Grover coin operator 3D ==========z=======
= (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -111))/(3.)
===generate coin state =====================================

in3 = np.array([[1, @, @], [0, 1, @], [0, @, 1]])

===generate space state that represent nodes ==============

e = np.zeros((N+1, N))
le k<N:
space = np.zeros(N)
space[k] =1
node[k+1] = space
k+=1
==generate steps matrix ==========================
=1
XS=ys=zs= 0
le r<=R:
i=1
while v <= (W*r):
if r%2==0:
if i==1:
yel = np.outer(node[v+(W-1)], node[v])
ys = ys + yel
i=1+1
else:
if i==W:
yew = np.outer(node[v-(W-1)], node[v])
ysS = ys + yew
else:
if v%2==0:
yee = np.outer(node[v+1], node[v])
ys = ys + yee
i=1i+1
else:
yeo = np.outer(node[v-1], node[v])
ys = ys + yeo
i=1i+1
else:
if v%2==0:
yoe = np.outer(node[v-1], node[v])
ys = ys + yoe
else:

yoo = np.outer(node[v+1], node[v])
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ys = ys + yoo
v+=1
r+=1

r=1
v=1
L=N-W
while r<=R:
while v<=(W*r):

if r==1:
z = np.outer(node[v+W], node[v])
X = np.outer(node[v+L], node[v])
o = np.outer(node[v], node[v])

0s = 0s + 0
XS = XS + X
zZS = ZS + Z

else:
if r==R:
z = np.outer(node[v-L], node[v])
x = np.outer(node[v-W], node[v])
o = np.outer(node[v], node[v])
0s = 0s + O
XS = XS + X
Zs = 2S5 + 2
else:
z = np.outer(node[v+W], node[v])
x = np.outer(node[v-W], node[v])
o = np.outer(node[v], node[v])
0Ss = 0s + O
XS = XS + X
Zs = 2S5 + 2
v+=1

r+=1
# the coin state terms that we need without change (in 3D)
cxx3 = np.outer(coin3[@], coin3[0])
cyy3 = np.outer(coin3[1], coin3[1])
czz3 = np.outer(coin3[2], coin3[2])
# the coin state terms that we need with change (in 3D)
czx3 = np.outer(coin3[2], coin3[0@])
cxz3 = np.outer(coin3[@], coin3[2])
# in the following terms not change in the coin state when the jumping in space is happening (3D)
S_hat_X3 = np.kron(xs, czx3)
S_hat_Y3 = np.kron(ys, cyy3)
S_hat_z3 = np.kron(zs, cxz3)
# Finally the Shift operator is:
S_hatQ3 = S_hat_X3 + S_hat_Y3 + S_hat_z3
S_hatC3 = xs + ys + zs
print ('these results are for W=' + str(W) + ', and R ="' + str(R) + '.")
#======Evolution operator =============
UG3 = S_hatQ3.dot(np.kron(np.eye(N), G3))
UC3= S_hatC3/3

#======Difine the initial state Psi(zero)=====
i=1
space = np.zeros(N)
while i<=W:
space = space + node[i]
i+=1

psi@Q3 = np.kron((space)/np.sqrt(W), ((coin3[@]*X)+(coin3[1]*Y)+(coin3[2]*Z))/np.sqrt((X)+(Y)+(Z)))
psieC3 = ((space))/ (W)

yy= T+1

Arri_Prob_G3 = np.zeros(yy)
Arri_Prob_C3 = np.zeros(yy)
aG3 =0

aC3 =0

bG3 = np.zeros(yy)

bC3 = np.zeros(yy)
Norm_psi_t_G3 = np.zeros(yy)
Norm_psi_t_C3 = np.zeros(yy)

while t<=T:
if t==0:
psi_t_G3 = psieqQ3
psi_t_C3 = psiecC3
else :
psi_t_G3 = np.dot(UG3, psi_t_G3)
psi_t_C3 = np.dot(UC3, psi_t_C3)
#====Grover 3D=================================
e3 = ((Lev-1)*W*3)
while e3<(Lev*W*3):
psi_t G3[e3] = ©
e3+=1
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Norm_psi_t_G3[t] = psi_t_G3.dot(psi_t_G3.conjugate()).real
Arri_Prob_G3[t] = 1 - Norm_psi_t G3[t]

f#t=========classical case 3D=======================
s =0

while s<W:

psi_t_C3[((Lev-1)*W)+s] = ©

s+=1

# __________________________________

Norm_psi_t_C3[t]=np.sum(psi_t_C3)
Arri_Prob_C3[t] = 1 - Norm_psi_t C3[t]
t+=1

#===== the plotting part ============z==z====z==z==z==z==z==z==z==z==z==z=======

minorLocator = AutoMinorLocator()

fig, ax = plt.subplots()

plt.plot(Arri_Prob_G3, 'g-', label='G 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_C3, 'k-', label='C 3D', markersize=12, linewidth=7)
ax.xaxis.set_minor_locator(minorLocator)

ax.tick_params(axis='x"', which="major', labelsize=70, width=6, length=20, colors='k')
ax.tick_params(axis='x"', which="minor', labelsize=70, width=2, length=20, colors='k')
ax.tick_params(axis='y', which="major', labelsize=70, width=2, length=20, colors='k')
ax.set_xlabel('Steps number', fontsize=65)

ax.set_ylabel('Arrival probability', color='k', fontsize=65)

for tl in ax.get_yticklabels():

tl.set_color('k")

plt.x1lim(0, yy)

plt.ylim(0, 1)

plt.title('Transport probability.ArmChair loop ('+str(Lev)+' Levels),'+str(W)+' width, '+str(R)+' ring,initial state: '+str(W)+'
node + equal mixture of all coin states.after '+str(T)+' steps', fontsize=16)
plt.legend(fontsize=20, loc='best', borderaxespad=90.)

figManager = plt.get_current_fig_manager()

figManager.window.showMaximized()

plt.tight_layout()

plt.show()

print ('daeall')

H#------ the End of the code -----------mmm oo
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print ('ﬂajldu;j\ﬁlfq')

#author: Hamza Bougroura

#======== Import the requirement module ===================
import numpy as np

import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator

#======= Define the critical number ======================

T = 6000 # number of random steps

aa = 2 # this aa number because the number of the ring muset be even
R = aa*1l6 # number of ring (only in the open tube)

W=29 # the width of each ring

Lev =R + 8 # the Levels number of the whole capped tube

N = (W*R)+60 # number of entier of vertex in space (vertex)

#===Define Grover coin operator 3D =================
G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -1]11))/(3.)

#t=====generate coin state =====================================
coin3 = np.array([[1, @, @], [e, 1, @], [e, @, 1]])
#=====generate space state that represent nodes ===============
node = np.zeros((N+1, N))
k=0
while k<N:
space = np.zeros(N)
space[k] = 1
node[k+1] = space
k+=1
#t====generate steps matrix ===================================
r=4
rr=R+(r-1)
v=31
i=4
0S=XS=ys=zs= 0
Xxs_1 =10
while r<=(rr):
a=b=c=d=1
1l=v
while v <(W+11):
if i==1:
if a==1:
al=(2*W)-1
y = np.outer(node[v+al], node[v])
ys = ys +y
a=a+1
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else:

a2=W-1
y = np.outer(node[v+a2], node[v])
ys =ys +y
if i==2:
if b==W:
bw=(2*W) -1
y = np.outer(node[v-bw], node[v])
ys =ys +y
else:
b2=W-1
y = np.outer(node[v-b2], node[v])
ys =ys +y
b+=1
if i==3:
if c==W:
y = np.outer(node[v+1], node[v])
ys =ys +y
else:
c2=(W+1)
y = np.outer(node[v+c2], node[v])
ys =ys +y
c+=1
if i==4:
if d==1:
y = np.outer(node[v-1], node[v])
ys =ys +y
d=d+1
else:
d2=W+1
y = np.outer(node[v-d2], node[v])
ys =ys +y
v+=1
r+=1
i+=1
if i==5:
i=1
r=4
re=R+(r-1)
v=31
while r<=rr:
1l=v
while v<(W+11):
if r==4:
z = np.outer(node[v+W], node[v])
X = np.outer(node[v-W], node[v])
o = np.outer(node[v], node[v])
0s = 0S + 0O
zs = zs + 2
Xxs_1 =xs_1+ x
else:
z = np.outer(node[v+W], node[v])
x = np.outer(node[v-W], node[v])
o = np.outer(node[v], node[v])
0s = 0S + 0
zs = 2s + 2
XS = XS + X
v+=1
r+=1
v-=1
v =V - 30
#====generate the space terms For the two half of the C60 sphere alone starting from 6 vertex case
(Hexagonal)======================
#]0><0|

osl = np.outer(node[1], node[1])+np.outer(node[2], node[2]) +np.outer(node[3], node[3])+np.outer(node[4],
node[4])+np.outer(node[5], node[5])+np.outer(node[6], node[6])+np.outer(node[7], node[7])+np.outer(node[8],
node[8])+np.outer(node[9], node[9])+np.outer(node[10], node[1@])

0s2 = osl +np.outer(node[11], node[11])+np.outer(node[12], node[12])+np.outer(node[13], node[13])+np.outer(node[14],
node[14])+np.outer(node[15], node[15])+np.outer(node[16], node[16])+np.outer(node[17], node[17])+np.outer(node[18],
node[18])+np.outer(node[19], node[19])+np.outer(node[20], node[20])

0s3 = 0s2 +np.outer(node[21], node[21])+np.outer(node[22], node[22])+np.outer(node[23], node[23])+np.outer(node[24],
node[24])+np.outer(node[25], node[25])+np.outer(node[26], node[26])+np.outer(node[27], node[27])+np.outer(node[28],
node[28])+np.outer(node[29], node[29])+np.outer(node[30], node[30])

0s4 = 0s3 +np.outer(node[v+31], node[v+31])+np.outer(node[v+32], node[v+32])+np.outer(node[v+33],
node[v+33])+np.outer(node[v+34], node[v+34])+np.outer(node[v+35], node[v+35])+np.outer(node[v+36],
node[v+36])+np.outer(node[v+37], node[v+37])+np.outer(node[v+38], node[v+38])+np.outer(node[v+39],
node[v+39])+np.outer(node[v+40], node[v+40])

0s5 = 0s4 +np.outer(node[v+41], node[v+41])+np.outer(node[v+42], node[v+42])+np.outer(node[v+43],
node[v+43])+np.outer(node[v+44], node[v+44])+np.outer(node[v+45], node[v+45])+np.outer(node[v+46],
node[v+46])+np.outer(node[v+47], node[v+47])+np.outer(node[v+48], node[v+48])+np.outer(node[v+49],
node[v+49])+np.outer(node[v+50], node[v+50])
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0s6 = 0s5 +np.outer(node[v+51], node[v+51])+np.outer(node[v+52], node[v+52])+np.outer(node[v+53],
node[v+53])+np.outer(node[v+54], node[v+54])+np.outer(node[v+55], node[v+55])+np.outer(node[v+56],
node[v+56])+np.outer(node[v+57], node[v+57])+np.outer(node[v+58], node[v+58])+np.outer(node[v+59],
node[v+59])+np.outer(node[v+60], node[v+60])

#|X><X|: don't forget to put back the term "np.outer(node[v+49], node[v+4@])" in its right place

xsl = np.outer(node[6], node[1]) +np.outer(node[3], node[2]) +np.outer(node[2], node[3]) +np.outer(node[5], node[4])
+np.outer(node[4], node[5]) +np.outer(node[1], node[6]) +np.outer(node[14], node[7]) +np.outer(node[15], node[8])
+np.outer(node[17], node[9]) +np.outer(node[18], node[1@])+np.outer(node[v+49], node[v+40])

xs2 = xsl +np.outer(node[20], node[11])+np.outer(node[21], node[12])+ +np.outer(node[7], node[14]) +np.outer(node[8],
node[15]) + np.outer(node[9], node[17])+np.outer(node[10], node[18])+ +np.outer(node[11], node[20])

xs3 = xs2 +np.outer(node[12], node[21])+np.outer(node[31], node[22])+np.outer(node[32], node[23])+np.outer(node[33],
node[24])+np.outer(node[34], node[25])+np.outer(node[35], node[26])+np.outer(node[36], node[27])+np.outer(node[37],
node[28])+np.outer(node[38], node[29])+np.outer(node[39], node[30])

xs4= np.outer(node[v+22], node[v+31])+np.outer(node[v+23], node[v+32])+np.outer(node[v+24], node[v+33])+np.outer(node[v+25],
node[v+34])+np.outer(node[v+26], node[v+35])+np.outer(node[v+27], node[v+36])+np.outer(node[v+28],
node[v+37])+np.outer(node[v+29], node[v+38])+np.outer(node[v+30], node[v+39])

xs5 = xs3+ +np.outer(node[v+51], node[v+42])+ + +np.outer(node[v+53], node[v+45])+ +np.outer(node[v+54], node[v+47])+
+np.outer(node[v+40], node[v+49])

xs6 = xs5+np.outer(node[v+42], node[v+51])+np.outer(node[v+58], node[v+52])+np.outer(node[v+45],
node[v+53])+np.outer(node[v+47], node[v+54])+np.outer(node[v+60], node[v+55])+np.outer(node[v+57],
node[v+56])+np.outer(node[v+56], node[v+57])+np.outer(node[v+52], node[v+58])+ + np.outer(node[v+55], node[v+60])

#]Y><y|

ysl = + +np.outer(node[8], node[2]) +np.outer(node[4], node[3]) +np.outer(node[3], node[4]) +np.outer(node[11], node[5])
+np.outer(node[12], node[6]) +np.outer(node[13], node[7]) +np.outer(node[2], node[8]) +np.outer(node[16], node[9])
+np.outer(node[19], node[10])

ys2 = ysl +np.outer(node[5], node[11]) +np.outer(node[6], node[12]) +np.outer(node[7], node[13]) +np.outer(node[15],
node[14])+np.outer(node[14], node[15])+np.outer(node[9], node[16]) +np.outer(node[18], node[17])+np.outer(node[17],
node[18])+np.outer(node[10], node[19])+np.outer(node[21], node[20])

ys3 = ys2 +np.outer(node[20], node[21])+np.outer(node[32], node[22])+np.outer(node[33], node[23])+np.outer(node[34],
node[24])+np.outer(node[35], node[25])+np.outer(node[36], node[26])+np.outer(node[37], node[27])+np.outer(node[38],
node[28])+np.outer(node[39], node[29])+np.outer(node[31], node[30])

ys4 = ys3 +np.outer(node[v+30], node[v+31])+np.outer(node[v+22], node[v+32])+np.outer(node[v+23],
node[v+33])+np.outer(node[v+24], node[v+34])+np.outer(node[v+25], node[v+35])+np.outer(node[v+26],
node[v+36])+np.outer(node[v+27], node[v+37])+np.outer(node[v+28], node[v+38])+np.outer(node[v+29],
node[v+39])+np.outer(node[v+41], node[v+40])

ys5 = ys4 +np.outer(node[v+40], node[v+41])+np.outer(node[v+50], node[v+42])+np.outer(node[v+44],
node[v+43])+np.outer(node[v+43], node[v+44])+np.outer(node[v+52], node[v+45])+np.outer(node[v+47],
node[v+46])+np.outer(node[v+46], node[v+47])+np.outer(node[v+49], node[v+48])+np.outer(node[v+48],
node[v+49])+np.outer(node[v+42], node[v+50])

ys6 = ys5 + +np.outer(node[v+45], node[v+52])+np.outer(node[v+59], node[v+53])+np.outer(node[v+60],
node[v+54])+np.outer(node[v+56], node[v+55])+np.outer(node[v+55], node[v+56])+np.outer(node[v+58],
node[v+57])+np.outer(node[v+57], node[v+58])+np.outer(node[v+53], node[v+59])+np.outer(node[v+54], node[v+60])

#|2><Z|

zsl = np.outer(node[7], node[1])+ +np.outer(node[9], node[3])+np.outer(node[10], node[4]) +np.outer(node[6], node[5])
+np.outer(node[5], node[6]) +np.outer(node[1], node[7]) + +np.outer(node[3], node[9]) +np.outer(node[4], node[10])

zs2 = zsl + + +np.outer(node[22], node[13])+np.outer(node[23], node[14])+np.outer(node[24], node[15])+np.outer(node[25],
node[16])+np.outer(node[26], node[17])+np.outer(node[27], node[18])+np.outer(node[28], node[19])+np.outer(node[29], node[20])
zs3 = zs2 +np.outer(node[30], node[21])+np.outer(node[13], node[22])+np.outer(node[14], node[23])+np.outer(node[15],
node[24])+np.outer(node[16], node[25])+np.outer(node[17], node[26])+np.outer(node[18], node[27])+np.outer(node[19],
node[28])+np.outer(node[20], node[29])+np.outer(node[21], node[30])

zs4 = zs3 +np.outer(node[v+40], node[v+31])+np.outer(node[v+41], node[v+32])+np.outer(node[v+42],
node[v+33])+np.outer(node[v+43], node[v+34])+np.outer(node[v+44], node[v+35])+np.outer(node[v+45],
node[v+36])+np.outer(node[v+46], node[v+37])+np.outer(node[v+47], node[v+38])+np.outer(node[v+48],
node[v+39])+np.outer(node[v+31], node[v+40])

zs5 = zs4 +np.outer(node[v+32], node[v+41])+np.outer(node[v+33], node[v+42])+np.outer(node[v+34],
node[v+43])+np.outer(node[v+35], node[v+44])+np.outer(node[v+36], node[v+45])+np.outer(node[v+37],
node[v+46])+np.outer(node[v+38], node[v+47])+np.outer(node[v+39], node[v+48])+np.outer(node[v+55], node[v+49])

zs6 = zs5 +np.outer(node[v+57], node[v+51])+ + + +np.outer(node[v+49], node[v+55])+ +np.outer(node[v+51], node[v+57])+
+np.outer(node[v+60], node[v+59])+np.outer(node[v+59], node[v+60])

# the except four jumping space are(corresponding to |Z><X| and |X><Z|)
node_zy = np.outer(node[2], node[1])
node_yz = np.outer(node[1], node[2])

node_zx = np.outer(node[8], node[16])+np.outer(node[11], node[19])+np.outer(node[12], node[13])+np.outer(node[v+50],
node[v+41])+np.outer(node[v+52], node[v+44])+np.outer(node[v+53], node[v+46])+np.outer(node[v+54],
node[v+48])+np.outer(node[v+56], node[v+50])+np.outer(node[v+58], node[v+59])

node_xz = np.outer(node[16], node[8])+np.outer(node[19], node[11])+np.outer(node[13], node[12])+np.outer(node[v+41],
node[v+50])+np.outer(node[v+44], node[v+52])+np.outer(node[v+46], node[v+53])+np.outer(node[v+48],
node[v+54])+np.outer(node[v+50], node[v+56])+np.outer(node[v+59], node[v+58])

node_yx = np.outer(node[v+51], node[v+43])
node_xy = np.outer(node[v+43], node[v+51])
B mmm m m e e e e e e oo

## the coin state terms that we need without change (in 3D)
cxx3 = np.outer(coin3[@], coin3[0@])
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cyy3 = np.outer(coin3[1], coin3[1])

czz3 = np.outer(coin3[2], coin3[2])

# the coin state terms that we need with change (in 3D)
czx3 = np.outer(coin3[2], coin3[0@])

cxz3 = np.outer(coin3[@], coin3[2])

#----

cyx3 = np.outer(coin3[1], coin3[0@])

cxy3 = np.outer(coin3[@], coin3[1])

czy3 = np.outer(coin3[2], coin3[1])
cyz3 = np.outer(coin3[1], coin3[2])

osT = 0s6 + os

XsT = xs6 + xs_1
ysT = ys6 + ys

# in the following terms (of the Shift operator) there is not change in the coin state when the jumping in space is happening

S_hat_X3 = np.kron(xsT, cxx3)
S_hat_Y3 = np.kron(ysT, cyy3)
S_hat_z3 = np.kron(zsT, czz3)

# However there is only four terms (of the Shift operator) that we should change the coin state when the jumping in space is
happening (3D)

S_hat_zx3 = np.kron(node_zx, czx3)+np.kron(xs4, czx3)+np.kron(xs, czx3)

S_hat_xz3 = np.kron(node_xz, cxz3)+np.kron(zs, cxz3)

H#-----

S_hat_yx3 = np.kron(node_yx, cyx3)

S_hat_xy3 = np.kron(node_xy, cxy3)

H#-----

S_hat_zy3 = np.kron(node_zy, czy3)

S_hat_yz3 = np.kron(node_yz, cyz3)

R T e e TR

# Finally the Shift operator is:
S_hatQ3 = S_hat_X3 + S_hat_Y3 + S_hat_Z3 + S_hat_zx3 + S_hat_xz3 + S_hat_yx3 + S_hat_xy3 + S_hat_zy3 + S_hat_yz3
S_hatC3 = xsT + ysT + zsT + node_xz + node_zx + node_xy + node_yx + node_yz + node_zy + XS4 + XS +zS

invers_S_hatQ3 = np.linalg.inv(S_hatQ3)
unitarity _of_S hatQ3 = np.dot(invers_S_hatQ3, S_hatQ3)
print ('unitarity of S_hatQ3 = ')

print (unitarity of_S_hatQ3)

print ('these results are for W=' + str(W) + ', and R ="' + str(R) + '.")
print ('++++++HHttet bbb )

#===== Evolution operator =========

UG3 = S_hatQ3.dot(np.kron(np.eye(N), G3))

UC3= S_hatC3/3

#======Difine the initial state Psi( zero)======================

i=1

space = np.zeros(N)

while i<=(6):

space = space + node[i]

i+=1

psi@Q3 = np.kron((space)/np.sqrt(6),(coin3[@]+coin3[1]+coin3[2])/np.sqrt(3.))
psi@C3 =((space))/(6)

yy= T+1

Arri_Prob_G3 = np.zeros(yy)
Arri_Prob_C3 = np.zeros(yy)
aG3 =0

aC3 =0

bG3 = np.zeros(yy)

bC3 = np.zeros(yy)
Norm_psi_t_G3 = np.zeros(yy)
Norm_psi_t_C3 = np.zeros(yy)

t=0
while t<=T:
if t==0:
psi_t_G3 = psieqQ3
psi_t_C3 = psiecC3
else :
psi_t_G3 = np.dot(UG3, psi_t_G3)
psi_t_C3 = np.dot(UC3, psi_t_C3)
#====Grover 3D=================================
e3 = ((v+54)*3)
while e3<((v+60)*3):
psi_t G3[e3] = ©
e3+=1

Norm_psi_t_G3[t] = psi_t_G3.dot(psi_t_G3.conjugate()).real
Arri_Prob_G3[t] = 1 - Norm_psi_t G3[t]
H#=========classical case 3D=======================
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psi_t_C3[v+54]=0
psi_t_C3[v+55]=0
psi_t C3[v+56]=0
psi_t C3[v+57]=0
psi_t C3[v+58]=0
psi_t C3[v+59]=0

Norm_psi_t_C3[t]=np.sum(psi_t_C3)
Arri_Prob_C3[t] = 1 - Norm_psi_t C3[t]
t+=1

#===== the plotting part ========================c==c=o=oo-oooozmoas

minorLocator = AutoMinorLocator()

fig, ax = plt.subplots()

plt.plot(Arri_Prob_G3, 'g-', label='G 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_C3, 'k-', label='C 3D', markersize=12, linewidth=7)
ax.xaxis.set_minor_locator(minorLocator)

ax.tick_params(axis='x', which="major', labelsize=70, width=6, length=20, colors='k")
ax.tick_params(axis='x"', which="minor', labelsize=70, width=2, length=20, colors='k")
ax.tick_params(axis='y', which="major', labelsize=70, width=2, length=20, colors='k')
ax.set_xlabel('Steps number', fontsize=65)

ax.set_ylabel('Arrival probability', color='k', fontsize=65)

for tl in ax.get_yticklabels():

tl.set_color('k")

plt.x1lim(0, yy)

plt.ylim(@, 1)

plt.title('Arrival probability.ZigZag capped ('+str(Lev)+' Levels),'+str(W)+' width, '+str(R)+'+8 ring, initial state: 6
node(Hexagonal) + equal mixture of all coin states.after '+str(T)+' steps', fontsize=16)
plt.legend(fontsize=20, loc='best', borderaxespad=90.)

figManager = plt.get_current_fig_manager()

figManager.window.showMaximized()

plt.tight_layout()

plt.show()

print ('daall')

H#------ the End of the code --------mmmmm oo e e

print ("ps s )l s’

#author: Hamza Bougroura

#======== Import the requirement module ===================
import numpy as np

import matplotlib.pyplot as plt

from matplotlib.ticker import AutoMinorLocator

#======= Define the critical number ======================
T = 60000 # number of random steps

R = 32 # number of ring only in the open tube

W = 10 # the width of each ring

Lev =R + 8 #the Levels number of the whole closed tube
N = (W*R)+60 # number of positions in space (vertex)

#===Define Grover coin operator 3D
G3 = (np.array([[-1, 2, 2], [2, -1, 2], [2, 2, -1]11))/(3.)
#=====generate coin state
coin3 = np.array([[1, @, @], [e, 1, @], [e, @, 1]])
#=====generate space state that represent nodes ===============
node = np.zeros((N+1, N))

while k<N:
space = np.zeros(N)
space[k] = 1
node[k+1] = space
k+=1
#====generate steps matrix ===================================
r=4
v=31
os_P2=0
Xs_P2_xx=0
Xs_P2=0
ys_P2=0
zs_P2= 0
while r<=(R+3):
i=1
while v <= (W*r):
if r%2==0:
if i==1:
yel = np.outer(node[v+(W-1)], node[v])
ys_P2 = ys P2 + yel
i=1i+1
else:
if i==W:
yew = np.outer(node[v-(W-1)], node[v])
ys_P2 = ys P2 + yew
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else:

if v%2==0:
yee = np.outer(node[v+1], node[v])
ys_P2 = ys P2 + yee
i=1i+1

else:
yeo = np.outer(node[v-1], node[v])
ys_P2 = ys P2 + yeo

i=1i+1
else:
if v%2==0:
yoe = np.outer(node[v-1], node[v])
ys_P2 = ys P2 + yoe
else:
yoo = np.outer(node[v+1], node[v])
ys_P2 = ys P2 + yoo
v+=1
r+=1
r=4
v=31
while r<=(R+3):
while v<=(W*r):
if r==4:
z = np.outer(node[v+W], node[v])
x = np.outer(node[v-W], node[v])

o = np.outer(node[v], node[v])
os_P2 = 0os_P2 + o

XS_P2_xx = Xs_P2_xx + Xx

zs_P2 = zs_P2 + z

else:
z = np.outer(node[v+W], node[v])
x = np.outer(node[v-W], node[v])
o = np.outer(node[v], node[v])
os_P2 = 0os_P2 + o
Xs_P2 = xs_P2 + x
zs_P2 = zs P2 + z
v+=1
r+=1
v-=1
v =yv - 30
R TR
#|0><0]|

osl = +np.outer(node[1], node[1])+np.outer(node[2], node[2])+np.outer(node[3], node[3])+np.outer(node[4],
node[4])+np.outer(node[5], node[5])+np.outer(node[6], node[6]) +np.outer(node[7], node[7]) +np.outer(node[8], node[8])
+np.outer(node[9], node[9]) +np.outer(node[10], node[10])

0s2 = osl +np.outer(node[11], node[11])+np.outer(node[12], node[12])+np.outer(node[13], node[13])+np.outer(node[14],
node[14])+np.outer(node[15], node[15])+np.outer(node[16], node[16])+np.outer(node[17], node[17])+np.outer(node[18],
node[18])+np.outer(node[19], node[19])+np.outer(node[20], node[20])

0os_P1 = 0s2 +np.outer(node[21], node[21])+np.outer(node[22], node[22])+np.outer(node[23], node[23])+np.outer(node[24],
node[24])+np.outer(node[25], node[25])+np.outer(node[26], node[26])+np.outer(node[27], node[27])+np.outer(node[28],
node[28])+np.outer(node[29], node[29])+np.outer(node[30], node[30])

os4=np.outer(node[v+31], node[v+31])+np.outer(node[v+32], node[v+32])+np.outer(node[v+33], node[v+33])+np.outer(node[v+34],
node[v+34])+np.outer(node[v+35], node[v+35])+np.outer(node[v+36], node[v+36])+np.outer(node[v+37],
node[v+37])+np.outer(node[v+38], node[v+38])+np.outer(node[v+39], node[v+39])+np.outer(node[v+40], node[v+40])
0s5=0s4 +np.outer(node[v+41], node[v+41])+np.outer(node[v+42], node[v+42])+np.outer(node[v+43],
node[v+43])+np.outer(node[v+44], node[v+44])+np.outer(node[v+45], node[v+45])+np.outer(node[v+46],
node[v+46])+np.outer(node[v+47], node[v+47])+np.outer(node[v+48], node[v+48])+np.outer(node[v+49],
node[v+49])+np.outer(node[v+50], node[v+50])

0os_P3=0s5 +np.outer(node[v+51], node[v+51])+np.outer(node[v+52], node[v+52])+np.outer(node[v+53],
node[v+53])+np.outer(node[v+54], node[v+54])+np.outer(node[v+55], node[v+55])+np.outer(node[v+56],
node[v+56])+np.outer(node[v+57], node[v+57])+np.outer(node[v+58], node[v+58])+np.outer(node[v+59],
node[v+59])+np.outer(node[v+60], node[v+60])

#]X><X|

xsl = np.outer(node[2], node[1])+np.outer(node[1], node[2])+np.outer(node[4], node[3])+np.outer(node[3],
node[4])+np.outer(node[10], node[5]) +np.outer(node[11], node[6]) +np.outer(node[12], node[7]) +np.outer(node[15],
node[8])+np.outer(node[16], node[9])+np.outer (node[5], node[10])

xs2 = xsl1 +np.outer(node[6], node[11])+np.outer(node[7], node[12])+np.outer(node[14], node[13])+np.outer(node[13],
node[14])+np.outer(node[8], node[15])+np.outer(node[9], node[16])+np.outer(node[20], node[19])+np.outer(node[19], node[20])
xs_P1 = xs2 +np.outer(node[31], node[21])+np.outer(node[32], node[22])+np.outer(node[33], node[23])+np.outer(node[34],
node[24])+np.outer(node[35], node[25])+np.outer(node[36], node[26])+np.outer(node[37], node[27])+np.outer(node[38],
node[28])+np.outer(node[39], node[29])+np.outer(node[40], node[30])

xs_P3_zx= np.outer(node[v+21], node[v+31])+np.outer(node[v+22], node[v+32])+np.outer(node[v+23],
node[v+33])+np.outer(node[v+24], node[v+34])+np.outer(node[v+25], node[v+35])+np.outer(node[v+26],
node[v+36])+np.outer(node[v+27], node[v+37])+np.outer(node[v+28], node[v+38])+np.outer(node[v+29],
node[v+39])+np.outer(node[v+30], node[v+40])

xs5= np.outer(node[v+50], node[v+41])+np.outer(node[v+52], node[v+42])+np.outer(node[v+51], node[v+43])+np.outer(node[v+45],
node[v+44])+np.outer(node[v+44], node[v+45])+np.outer(node[v+55], node[v+46])+np.outer(node[v+54],
node[v+47])+np.outer(node[v+53], node[v+49])+np.outer(node[v+41], node[v+50])

-81-



xs_P3= xs5+np.outer(node[v+43], node[v+51])+np.outer(node[v+42], node[v+52])+np.outer(node[v+49],
node[v+53])+np.outer(node[v+47], node[v+54])+np.outer(node[v+46], node[v+55])+np.outer(node[v+57],
node[v+56])+np.outer(node[v+56], node[v+57])+np.outer(node[v+59], node[v+58])+np.outer(node[v+58], node[v+59])

#|Y><Y|

ysl = np.outer(node[5], node[1])+np.outer (node[3], node[2])+np.outer (node[2], node[3])+np.outer (node[9], node[4])
+np.outer(node[1], node[5])+np.outer(node[20], node[6]) +np.outer(node[13], node[7])+np.outer(node[14], node[8])
+np.outer(node[4], node[9]) +np.outer(node[19], node[10])

ys2 = ysl +np.outer(node[12], node[11])+np.outer(node[11], node[12])+np.outer(node[7], node[13])+np.outer(node[8],
node[14])+np.outer(node[16], node[15])+np.outer(node[15], node[16])+np.outer(node[18], node[17])+np.outer(node[17],
node[18])+np.outer(node[10], node[19])+np.outer(node[6], node[20])

ys_P1 = ys2 +np.outer(node[30], node[21])+np.outer(node[23], node[22])+np.outer(node[22], node[23])+np.outer(node[25],
node[24])+np.outer(node[24], node[25])+np.outer(node[27], node[26])+np.outer(node[26], node[27])+np.outer(node[29],
node[28])+np.outer(node[28], node[29])+np.outer(node[21], node[30])

ys4=np.outer(node[v+32], node[v+31])+np.outer(node[v+31], node[v+32])+np.outer(node[v+34], node[v+33])+np.outer(node[v+33],
node[v+34])+np.outer(node[v+36], node[v+35])+np.outer(node[v+35], node[v+36])+np.outer(node[v+38],
node[v+37])+np.outer(node[v+37], node[v+38])+np.outer(node[v+40], node[v+39])+np.outer(node[v+39], node[v+40])
ys5=ys4 +np.outer(node[v+52], node[v+41])+np.outer(node[v+43], node[v+42])+np.outer(node[v+42],
node[v+43])+np.outer(node[v+51], node[v+44])+np.outer(node[v+55], node[v+45])+np.outer(node[v+47],
node[v+46])+np.outer(node[v+46], node[v+47])+np.outer(node[v+49], node[v+48])+np.outer(node[v+48],
node[v+49])+np.outer(node[v+53], node[v+50])

ys_P3=ys5 +np.outer(node[v+44], node[v+51])+np.outer(node[v+41], node[v+52])+np.outer(node[v+50],
node[v+53])+np.outer(node[v+59], node[v+54])+np.outer(node[v+45], node[v+55])+np.outer(node[v+60],
node[v+56])+np.outer(node[v+58], node[v+57])+np.outer(node[v+57], node[v+58])+np.outer(node[v+54],
node[v+59])+np.outer(node[v+56], node[v+60])

#]2><z|

zsl = np.outer(node[6], node[1])+np.outer (node[7], node[2])+np.outer(node[8], node[3])+np.outer (node[5], node[4])+np.outer
(node[4], node[5])+np.outer (node[1], node[6])+np.outer(node[2], node[7])+np.outer(node[3], node[8])

zs2 = zsl +np.outer(node[21], node[11])+np.outer(node[22], node[12])+np.outer(node[23], node[13])+np.outer(node[24],
node[14])+np.outer(node[25], node[15])+np.outer(node[26], node[16])+np.outer(node[27], node[17])+np.outer(node[28],
node[18])+np.outer(node[29], node[19])+np.outer(node[30], node[20])

zs_P1 = zs2 +np.outer(node[11], node[21])+np.outer(node[12], node[22])+np.outer(node[13], node[23])+np.outer(node[14],
node[24])+np.outer(node[15], node[25])+np.outer(node[16], node[26])+np.outer(node[17], node[27])+np.outer(node[18],
node[28])+np.outer(node[19], node[29])+np.outer(node[20], node[30])

zs4 =np.outer(node[v+41], node[v+31])+np.outer(node[v+42], node[v+32])+np.outer(node[v+43], node[v+33])+np.outer(node[v+44],
node[v+34])+np.outer(node[v+45], node[v+35])+np.outer(node[v+46], node[v+36])+np.outer(node[v+47],
node[v+37])+np.outer(node[v+48], node[v+38])+np.outer(node[v+49], node[v+39])+np.outer(node[v+50], node[v+40])

zs5 =zs4 +np.outer(node[v+31], node[v+41])+np.outer(node[v+32], node[v+42])+np.outer(node[v+33],
node[v+43])+np.outer(node[v+34], node[v+44])+np.outer(node[v+35], node[v+45])+np.outer(node[v+36],
node[v+46])+np.outer(node[v+37], node[v+47])+np.outer(node[v+38], node[v+48])+np.outer(node[v+39],
node[v+49])+np.outer(node[v+40], node[v+50])

zs_P3 =zs5 +np.outer(node[v+56], node[v+51])+np.outer(node[v+57], node[v+52])+np.outer(node[v+58],
node[v+53])+np.outer(node[v+60], node[v+55])+np.outer(node[v+51], node[v+56])+np.outer(node[v+52],
node[v+57])+np.outer(node[v+53], node[v+58])+np.outer(node[v+55], node[v+60])

# the except four jumping space are(corresponding to |Z><X| and |X><Z|)
node9_17 = np.outer(node[9], node[17])

nodel7_9 = np.outer(node[17], node[9])

nodel@ 18 = np.outer(node[10], node[18])

nodel8_10 = np.outer(node[18], node[10])

node54_48 P3 = np.outer(node[(v+54)], node[(v+48)])
node48_54_P3 = np.outer(node[(v+48)], node[(v+54)])
node59_60_P3 = np.outer(node[(v+59)], node[(v+60)])
node6@_59 P3 = np.outer(node[(v+60)], node[(v+59)])

node_xz = nodel7_9 + nodel8_10 + node48_54_P3 + node60_59_ P3
node_zx = node9_17 + nodel@_18 + node54_48 P3 + node59_60_P3

# the coin state terms that we need without change (in 3D)
cxx3 = np.outer(coin3[@], coin3[0])

cyy3 = np.outer(coin3[1], coin3[1])

czz3 = np.outer(coin3[2], coin3[2])

# the coin state terms that we need with change (in 3D)
czx3 = np.outer(coin3[2], coin3[0@])

cxz3 = np.outer(coin3[@], coin3[2])

#the shift terms P1 + P3:
os_P1P3 = os_P1 + os_P3
Xs_P3_zx

Xs_P1P3 = xs_P1 + xs_P3
ys_P1P3 = ys P1 + ys_P3
zs_P1P3 = zs_P1 + zs_P3

# the shift operator parts for (3D):
S_hat_X3_P3_zx = np.kron(xs_P3_zx, czx3)
S_hat_X3_P1P3 = np.kron(xs_P1P3, cxx3)
S_hat_Y3_P1P3 = np.kron(ys_P1P3, cyy3)
S_hat_z3 P1P3 = np.kron(zs_P1P3, czz3)
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S_hat_X3_P2_xx = np.kron(xs_P2_xx, cxx3)
S_hat_X3_P2 = np.kron(xs_P2, czx3)

S_hat_Y3_P2 = np.kron(ys_P2, cyy3)
S_hat_z3 P2 = np.kron(zs_P2, cxz3)
B mmm m e e e e e e e e e o

# the changed coin state terms in the C60 (3D)
S_hat_zx3 = np.kron(node_zx, czx3)
S_hat_xz3 = np.kron(node_xz, cxz3)

S_hat_X3 = S_hat_X3_P1P3 + S_hat_X3_P2 + S_hat_X3_P3_zx + S_hat_X3_P2_xx
S_hat_Y3 = S_hat_Y3_P1P3 + S_hat_Y3 P2
S_hat_z3 = S_hat_z3 P1P3 + S_hat_z3 P2

[ R T
os = 0s_P1P3 + os_P2

Xs = XS_P1P3 + xs_P3_zx + xs_P2 + xs_P2_xx

ys = ys_P1P3 + ys_P2

zs = zs_P1P3 + zs_P2

R T T D

# Finally the Shift operator is:
S_hatQ3 = S_hat_X3 + S_hat_Y3 + S_hat_Z3 + S_hat_xz3 + S_hat_zx3 # quantum case 3D
S_hatC3 = xs + ys + zs + node_xz + node_zx # classical case 3D

invers_S_hatQ3 = np.linalg.inv(S_hatQ3)
unitarity_of_S_hatQ3 = np.dot(invers_S_hatQ3, S_hatQ3)
print ('unitarity of S_hatQ3 = ')

print (unitarity_of_S_hatQ3)

print ('these results are for W=' + str(W) + ', and R ="' + str(R) + '.")
print ('++++HttHbeb bbb )

#===== Evolution operator =============================

UG3 = S_hatQ3.dot(np.kron(np.eye(N), G3))

UC3= S_hatC3/3

#t======Difine the initial state Psi( zero)======================

i=1

space = np.zeros(N)

while i<=(5):

space = space + node[i]

i+=1

psieQ3 = np.kron((space)/np.sqrt(5),(coin3[@]+coin3[1]+coin3[2])/np.sqrt(3.))
psioC3 =((space))/(5)

yy= T+1
Arri_Prob_G3 = np.zeros(yy)
Arri_Prob_C3 = np.zeros(yy)
aG3 =0
aC3 =0
bG3

np.zeros(yy)

bC3 = np.zeros(yy)
Norm_psi_t_G3 = np.zeros(yy)
Norm_psi_t_C3 = np.zeros(yy)

while t<=T:
if t==0:
psi_t_G3 = psieqQ3
psi_t_C3 = psiecC3
else :

psi_t_G3 = np.dot(UG3, psi_t_G3)

psi_t_C3 = np.dot(UC3, psi_t_C3)
#====Grover 3D=================================
e3 = ((v+55)*3)
while e3<((v+60)*3):

psi_t_G3[e3] = ©

e3+=1

Norm_psi_t_G3[t] = psi_t_G3.dot(psi_t_G3.conjugate()).real
Arri_Prob_G3[t] = 1 - Norm_psi_t_G3[t]

#=========classical case 3D=======================
psi_t_C3[v+55]=0

psi_t C3[v+56]=0

psi_t C3[v+57]=0

psi_t C3[v+58]=0

psi_t C3[v+59]=0

Norm_psi_t_C3[t]=np.sum(psi_t_C3)
Arri_Prob_C3[t] = 1 - Norm_psi_t C3[t]
t+=1

#===== the plotting part ===========================================
minorLocator = AutoMinorLocator()

fig, ax = plt.subplots()

plt.plot(Arri_Prob_G3, 'g-', label='G 3D', markersize=12, linewidth=7)
plt.plot(Arri_Prob_C3, 'k-', label='C 3D', markersize=12, linewidth=7)
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ax.xaxis.set_minor_locator(minorLocator)

ax.tick_params(axis='x"', which="major', labelsize=70, width=6, length=20, colors='k')

ax.tick_params(axis='x', which="minor"', labelsize=70, width=2, length=20, colors='k")

ax.tick_params(axis='y', which="major', labelsize=70, width=2, length=20, colors='k")

ax.set_xlabel('Steps number', fontsize=65)

ax.set_ylabel('Arrival probability', color='k', fontsize=65)

for tl in ax.get_yticklabels():

tl.set_color('k")

plt.xlim(0, yy)

plt.ylim(@, 1)

plt.title('Arrival probability.ArmChair capped ('+str(Lev)+' Levels),'+str(W)+' width, '+str(R)+'+8 ring, initial state: 5
node(Pentagonal) + equal mixture of all coin states.after '+str(T)+' steps', fontsize=16)

plt.legend(fontsize=20, loc='best', borderaxespad=90.)

figManager = plt.get_current_fig_manager()

figManager.window.showMaximized()

plt.tight_layout()

plt.show()

print ('daeall')

H#------ the End of the code --------ommmm oo
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Quantum-walk transport properties on graphene structures

Abstract:

We present numerical studies of quantum walks on Cg, and related graphene structures,
to investigate their transport properties. Also known as a honeycomb lattice, the lattice
formed by carbon atoms in the graphene phase can be rolled up to form nanotubes of
various dimensions. Graphene nanotubes have many important applications, some of
which rely on their unusual electrical conductivity and related properties. Quantum walks
on graphs provide an abstract setting in which to study such transport properties
independent of the other chemical and physical properties of a physical substance. They
can thus be used to further the understanding of mechanisms behind such properties. We
find that nanotube structures are significantly more efficient in transporting a quantum
walk than cycles of equivalent size, provided the symmetry of the structure is respected in
how they are used. We find faster transport on zig-zag nanotubes compared to armchair
nanotubes, which is unexpected given that for the actual materials the armchair nanotube

is metallic, while the zig-zag is semiconducting.

Keywords: quantum information, quantum walk, discrete-time model, transport

propriety, graphene structure, Bucky-ball (Ceo)» torus nanotube, capped nanotube,



Marche-quantique Propriétés de transport sur les structures de graphéne
Résumé:

Nous avons présenté une étude numérique de la marche quantique dans la molécule Cg,
et des structures de graphéne apparentées, pour étudier leurs propriétés de transport.
Egalement connu sous le nom de "honeycomb lattice", le treillis formé par des atomes de
carbone dans la phase de graphéne peut étre enroulé pour former des nanotubes de
différentes dimensions. Les nanotubes de graphéne ont de nombreuses applications
importantes, dont certaines dépendent de leur conductivité électrique inhabituelle et des
propriétés connexes. La marche quantique sur les graphes fournit un cadre abstrait pour
étudier ces propriétés de transport indépendamment des autres propriétés chimiques et
physiques d'une substance physique. Ils peuvent ainsi étre utilisés pour approfondir la
compréhension des mécanismes derriére ces propriétés. Nous constatons que les
structures de nanotubes sont significativement plus efficaces dans le transport d'une
marche quantique que les cycles de taille équivalente, 4 condition que la symétrie de la
structure est respectée dans la fagon dont ils sont utilisés. Nous trouvons un transport
plus rapide sur les nanotubes en zigzag par rapport aux nanotubes en armchair, ce qui est
inattendu étant donné que pour les matériaux réels, le nanotube d'armchair est métaﬂique,

tandis que le zigzag est semi-conducteur.

Motsclés : information quantique, marche quantique, discréte-temps model, transport

propriété, graphéne structure, Bucky-ball (Ceo)» torus nanotube, capped nanotube,
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